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1 (a) t~~idates are allowed 10 minutes to 1
fiL\u.p the 'basic information about
theJDSelvesin the OMRanswer sheet such
a~.Name,Ron No. etc.

(b) ~r this, question booklet will be given
to~ candidates they are required to do
~fc;>llowing: . '
(i) Examine the booklet aid to see that

all paper seals .at the: edge of the
booklet are intact. DQ not accept the
question booklet if sticker seals are
not intact.

(ii) Tallythe number of pages alongwith
no. of questions printed on cover of'
the booklet.

(iii) ,Checkthat questionbooklet contains.
the questions ()fall relevant subjects!
topics as required and stated in the
Note' and no repetition or omission
of questions is evident.

In cale of any discrepancy
please get the booklet changed.
This shouldbe donewithin 5minutes
of receiving the question booklet,
after which neither the question
booklet will be replaced nor will

. extra time be given. '
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(iv) After examining the question booklet
please enter the Serial No. of the
question booklet at the appropriate

, place in the answer sheet and the
correspondingcircles be darkened
with Black ball-point pen.

(c) Candidates are not permitted to mark
answers in the Answer Sheet in these
15 minutes, Three Hours more will be
given for marking all the answers,
. .' ::...::t

2 (a) On page 1 of Answer Sheetfn upper half .
. , ' portion; write Name, Roll No,. Name of .;5

Exam Centre, Date ofEx~;pld Sr. No.
of Question Booklet suppiied to you. Put

!" • your signaturesalso; Onth~Tfower haW /
portion'of this page fill iMhe boxes Q of F
tbefirsttopmost line incapital letters, your
surname and name (in English). Write one
letter in each box 0 Belmy each letter'
darken W:ithBlack ball-point pen the circle
obearing same letter.

(b) Orr page 2 of Answer Sheet fill in your
Roll No., etc. by writing in -the 0 and
below it by darkening corresponding O.

I
j'

(c) On page 2 of Answer Sheet only the
answers to questions are to be marked. The
Instructions for this are available on the
back cover page of this question booklet.

(d) All entries to be made byBlack ball-point
pen.

3 Optical Mark Reader (OMR) machine
prepares the result by reading the entries made
in the circles 0with the Black ball-point pen
on page I and 2 of the Answer Sheet, hence
the candidate must be extremely careful in
marking these entries and must not commit
errors,

(For instructions regarding marking the
answers please see the back cover page (}/this

Question Booklet).
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, 1 ~ "SI'~9"'tf?T .q ~. 'mTT t,
\f,fdc6) ,~lR?J : "SI'.Sfi.01 -ij- 50, ,~ ~TR?r :1f.J). 51 ~ '100,

C1""Wra~lR?I' : "SI'.1>. 101 "« 150 ~ ~~lR?J: "SI'.~. 151 -ij- ?O~ I

'2' ~ "SI'~""'1'trsr 1{ ~' 200 1f~Of ~ 1 -ij- 200 ~ ~ ~ ~ ~~Of Jq6 i3tc6
.q)f t I Wttr "SI'~'~' t= I ~ ~~I""Cfi" \(W:IiCfi"",9"tf t I

Ii "Sr~"f '9;%1451 t ,.~Cf!iT1f~-.rrctt ~ CfiT~ .~, '~ 1ft it ~, .~i31T
f': -ij- ~ ~I m~ tJ "SI'~""'1',g;f«1i61 1{Wttr ~ ~ I 'qtlT •..~"fcf; ~ ~

'l11U t, t.1f~""'1'e~RYtd t lJT"Sr~Of ~ ,~ tn ~ ~, ~ "Sr~""'1'"~ 'IT ~
t~ ,~~ ~"{O;tl "« q;t I -,..' ,

4 "Sr~Of 9fta4)1 1{M VCfiT{ ctt ~ ~ ilWt 1ft ~' "Srer:rt sftRe:' 1{aj~(fICtH
~ "Sr~Of g;fuiCfi I eft ~ I

" 5 "Sr~Of 'tf?T' ~ m t ~ "Sr~OJ g;fi:aCfil, t ~ lfiO'1ft ~ f.:ti~iTGfiT
WI"1'{4Cfi ~ ~, ~ ~~ -ij- 'IfRiRq;t I 1.l~ 'ii' \ml" if ',lIlaTr.lP{.am.
\ml ~fre11l 614i414'11\4ifi ~ ~, ifi:{tr ~ ~ I

6 M ,1ft VC6Tt CfiT& (I1tf ~ l r, .l,at ,~t't -q;"R~ ftfffir 1ft l1Cfffi" t ~ ~~~IPI <6
I3QCfi{UI ~''ffitT ~,~ q)f~, ~ ~t I

'n NOTE
1 This paper has Four Sections,

PhyMcs : Q. No. 01 to 50, Chemistry :,Q. No. 51. to 100,
Botany: Q. No. 101 to 150 and Zoology ;,Q.No. 151 to 200.

2 This question booklet contains 200 questions numbered from 1 to 200 and
each 'question carry 01 mark. All questions are, compulsory. There is no
negative marking.

3 . Tally the number of pages alongwith no. of questions printed on cover page
of the booklet. Also check that question booklet contains the 'questions of
all relevant, subjectsltopics, as required and stated above and no repetition
or omissionef questions is evident.

4 If any discrepancy is found in the Question booklet tbe same can be replaced
with another correct question booklet within first 15 minutes.

5 Before answering the,questions please read carefully the, instructions printed
on the, back cover page of the question booklet and strictly follow them.
Indicate your answers by blacking, bubbles, carefully only on the
O.M.R. Answer Sheet provided.

6 Use of any type of calculator, mobile phone or any other electronicequipment
and log table etc. is strictly prohibited.
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1 Radioactivity of a sample at Ii. time is Rl and at time T2 j$ R}.~ If half

life of sample is T, then in time (T2 -Ii), the number of decayed atoms
is proportional to :

.lFn .~fc6t~.'. i(1ra,~dl'1i<w:rq' W 'Rl t{Ci .. T2 ~. ~ R2 t I tlft
,-).. .

.~tc6t ~~ rt m (T2-Ii)"ijlfq ~ ~.m ~ ~~ ~ ~
(1+t:ljqltflt :

(C)

2 If a wire is stretched to four times its length then the specific resistance
of the wire will :

(A) become 4 times
1 .

(B). become. 4 times

(C) become 16 times (0) remain the same
~ ~ "ffii q;) «ft·~Cb< ~ ~,q;) ~I <~'11 q)\" ~ ijffffi t m ~
CfiT 'M~ ~. : (i

4~~~
1

(A) (B) -.~~.~
4 .

(C) 16~~~ (0) i3jq!1qRfa ~

3 Electrical force is acting between two charges kept in vacuum. A copper
plate is placed between. the .charges, .the force new is·
(A) . more (B) less butcncn-zero
(C) remains unchanged (0) zero
f.fcmr'~'cl' ~ ~~nt' ~~!!(11t1·~ ~ 'm tl~~~iTt ~
~ ~ -qfr ~ tft· ~tl.~ ~!!dttl ~t:
(A) ~ (B) .q;q.~ ~~~

(C) -3fqf{qRfa

HM:OC/l3-A~ ]
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4 For the circuit shown in figure given below the equivalent resistance
between poini~Aarid B is:

D 70
<1' gO

50

l i \ f;

(A) 100 (B) 50

.. ~

(A) 100 (B) 50

·10
(C) -0 ,(0) 20

3

5 A current of 2 amp. is made to flow through a coil which has only one

turn. .The magnetic. field produced at the ,centre is 41txI0-6 Wb/m2•
The radius of the coil'.is :
(A) O.OOOlm (B) 0.01 m
(C) O.lm (O)O.OOlm
·Wi ~ r.fr T{Cfi .~ ..q 2 ({Pill! ( mu iQ" W ~1 ~ 'T\ ~ ~c6'IlI

~ 41txl0-6 Wb/m2 tl .~ r.fr ~ t :
(A) 0.0001 m. (B) 0.01· m
~ ~lm (0) ~OOlm
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6 A non conducting ring of radius r has a charge Q. A magnetic field is
acting perpendicular to the plane of ring and is changing at the rate of

dB
dt • The torque experienced by the ring is : .

(A) Zero' (B) Qr2dB
dt

(C) .lQr2 dB (D) 2QdB1tr -
2 dt dt

r ~ t ~ !Ii~I{i1Cf) ~ 1R Q ~~Tt I ~¥StcCt~ ~ ~ t (ffi

. dB ' .
tWilq€j\ ~ wt CflTT dt G:\, -q qfhlRfa ~ w t I ~ t "IDU ~

f$ln ~. iI{i1lf.{a\ t

(A) ~~

2Q··dB
(D) 1tr -

dt

7 For the circuit shown the charge on the capacitor will be :

-a:~lfq ~ -qftq-~, -q ~t:nfut.1R ~~T irrr

r

(A) CE
CER1

(B) ~ +r

C~
(C) ~ +r ..

eEl)
(D) ~,+r
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•

8 Two resistors of. 6 Uand 9 n are conneetedin.series to a' i20 V source:
...;,.:

The power coiisumed by6 n resistor is:

(A) 384 W

(C) 1500 W

(B) 616 W

(D) 1800 W'

6 n·~ 9 n ~·.·crrllfffUtr 120V t mo.-e- ~cIO~'i -q~~16n llfffU~
am -arq -tt.~ ~~ t .
(A) 384 W (B) 616 W

.~. ~"- : (C) 1500 W (D}' 1800 'W

9 Spectrum of X-rays is ;

(A) continuous (B) linear

(C) continuous and linear

X-~.(ffi ~ t
(D). band

(A) "ffiRf

(C) "ffiRf ~ ~

10 Which pair ~s isotonic?

(C) C14,· N14
6 7 .. (D)

(B) C14· Cl~
6 '6

.(C)
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11 In Young's double slit experiment, the phase difference between the two
waves reaching at" the location of the third dark fringe is :

(A) 1t (B)
31t

2

(C) 51t 0)} 31t
"$r t ftI furR: ~ ~, ~. ~ ~. rtr ~ "!f{ ~ ~ ~

-atrIT ~ ~ Cf)(WIloa< m-a,- t

(A) 1t

(C) 51t

(B)
31t

2

0) 31t.

12 The radius of curvature of the convex face of a planoconvex lens is
12 cm and the refractive index of the material of the lens is 1.5. Then
the focal length of the lens is :
(A) 6 em (B). 12 em
(C) 18 cm 0) 24 em

~ '('I'"Id~ih1(W1 ~ t ~ ~ rtr ~ .~ 12M, t -a~ .~ t
W~ q)£ 0tQQd1iCb 1.5 t, "ffl ~ rtr ~ ~ t
(A) 6 M. (B) 12 Wff.
(C) 18 M. 0) 24 M.

13 Two thin lenses of focal lengths fI and h are placed in contact .with

each other. Then the equivalent focal length of thecombination will be:

1
(A) fI+h (B) fI+h

(C)
·fIh Ii+I:
fI+h 0) fIi2

Ji q 12 .~ ~' t Gl.-qm;) ~ ~ W ~ ~. 1l ~ t I (1~'\1\i11

~~~·~.t
1

(A) fI+h (B) fI+h

(C)
fIh fI+h
fI+h 0) fIh

HMDC/13-A_A] , 8 [ Contd ...
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(0)
11
9

14 A point chargeq is placed at a distance ~directly above the centre of
a cube ofside.«, fThe 'flux through the. cube is :.

(A) q/EO OS) q/2Eo
q

(C) 4Eo (0) q/6Eo

x ~ ~ ~. ~ ~ R -« ~ ~.~ 15m ~ ~ ~~T q -mr
t I ~ -« 'tITfut" .~ t~:
(A) q/EO OS) q/2Eo

q
(C) 4Eo (0) q/6Eo

15 For a series LCR' circuit, the- rms values- of voltage across vanous
components are VL =90V, Vc =60V arid VR =.40Voit. The rms value
of<. \'V,oltage'applied to the circuit is :
(1\) 190 V OS) 110 V
(C) 70 V (0) 50 V~<.~LCR -qftq~.q ~ ~ 'tIT~ ~ crt 1{M ~ lWf VL = 90 V,

Vc .:!\OOV ~ YR = 40 V t I -qftq~.q vgcRf'~ q;t crt 1{M ~ lWf t :
(A) !t'o V OS) 110 V
(C) 70 V (0) 50 V

. .Cp
16 .For a gas of non rigid diatomic molecules, the value of Y= C

v
is .:

9(A) -J

7

5
(C) -

3

7
OS) 5

9 7
(A), - (B)

7 5

5 11
(C) - (0)

3 9
HMDC/13-A_A] 9 [Contd ••.
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17 When a p-n junction is reverse biased, then the current through the junction
is mainly due to :

(A) diffusion of charges

(B) drift of charges

(C) both drift and diffusion of charges»

(D) neither drift nor diffusion of charges
. .

~ .~. p-n mtr q;l ~ ~ ..~ ~t m mtr ..1tm cntr ~
-mT t, ~: :
(A) ~~il tr; ~-tr; cmur
(B) ~~iT tr; ~ ~ ?fiRUT

(C) ~m tr; file(01 ~ ~ ~ tr; ?fiRUT

(D) ';f m ~~iT tr; file(01 i3fR ';f fr ~~iT t ~ t C6ftOT

..~".~.~l
IS 'Which series of hydrogen spectrum corresponds to ultraviolet region?

(A) Balmer series . (B) Brackett series

(C) Paschen series (D) Lyman series

. $1~~"\(\j11~ c6T -tA ~ M q Uaoll4) ~ ~ ~ ilffifi t ')~F

(A) -~ M (B) m M ' ',.
(e) m~T.R M {D) ~ M

19 An air core coil and an electric bulb are connected in series With an ac
source. If an iron rod is put in the coil, then the intensity of light of the
bulb· will :

(A) remain same

(e) .decrease

(B) increase

. (D) first decrease. then increase

~~ ~~ ~ ~~~~ SH~ICldT ~~tmtT ~Jr)a;4Of

1t¥. t· I ~ ~1t ~ ~. c6T ~ ~ ~ t m ~:tr; -sfC6WT

~~:

(A)~qf{ClRfd Wft

(e) ~

(B) Wfr

(D) ~~m~
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(A) ~ ~ ~

(C) cfit;:m;r ~
HMDCIl3-.A_A]

(B) cfit ~ ~ ~
(0) I3q~qij'~ ~ M 1:r ~ .

[Contd:••

20 On heating a fel'romagnetic substance above Curie temperature :
(A) . becomes paramagnetic

(B) becomes diamagnetic

(C) ·remains ferromagnetic'.with 'constant magnetic susceptibility
(0) becomes electromagnetic

.,~ "ffI'Cf ~ ~ Tpf m lIT '~&gJOEl$)q ~ : .

(A) ~lT4Iqffq 11\jfTffi l
(B) gft!! •• rClq ~ ~ t
(C) ~ !~rCl{f .tmtr ~&~4ftqmrrt
(0) • ~rCltl .~ ~ t'M r ;

21 For having .large.magnificetion power of a compound microscope:

(A) length of the microscope tube must be small.

(B) focal lengths of objective lens .and eye-piece should be large•

.(C) focal lengths of objective lens and eye-piece should be' small.

(0) focal length .of eye-piece must be smaller than the focal length of
objective lens.

~ ~ l{~Qif cfit ,~ @1tIT~ m t ~ :.
(A) ~~Qif cfit ~ ~ ~ Cfi1l ~'~I

(B) ~~ -qct ~ R ~,~ ttt ~ IT-ft'~1
(C) ~~~ ~R~~ttt~,~,~1
(0) .~ ~.~ .~ {ft ~Q~R ~ ~ ttt -« ~ ~

~I

22 When a charged particle moves perpendicularto a uniform magnetic.field,'
there is a change in its :

(A) momentum' .(B) .kinetic energy

(C) speed (0) none of the above

~ ~ ~ i61IT ~q;e'll" !JOEItttl ~ ~ li1JOE1q~1lfu cmm t-aT qf):eHf.,
~lCf)U'f:

11
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23 Maximum kinetic energy . of electrons emitted In photoelectric effect

. increases when :

(A) intensity of light isIncreased

(B) light source is brought nearer. the metal

(C) frequency of light is decreased

(D) wavelength' of light is decreased.

~~ ~ 1J\l1Cr ~ I3ffif'Jfct ~(i\«T'11cCr ~ ~ ~ ~ ~
~:

24 A potentiometer wire of length 10 m and resistance 10 ohm per meter
is connected in series with a resistance box and a 2 volt battery. If a potential
difference of 100 my is balanced across the whole length of pot~ntiometer
wire, then the resistance introduced in the resistance box will' be

(A) 19000 (B) 9000

(C) 1900 (D) 900

10 '~ ~ ~ 10 3W:r lAfu' ~' ~ it; ~ ~ ffi\ q;) ~

~ '.~ ~ 2 ~ cCr ~ ~ ~ ~O~~li if ~ Tf(U ~I ~

100 ~ • If)f' ~ ~'1qlil-fr cCr ~ ~ -qr eg;i"&amu' t,
en ~ ~: 'if"~ f.1Cf)I~1 ,~ ~ m :
(A) 1900n (B) 900n

(C) 1900 (D) 900
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- (C)

25 The specific' heat ~f an ideal gas. forian isotherma! process is :

(A) Zero f(B) ~R/
2

(C) ~R (D) Infinite2
c f

(1lOfdlQ1 ~ -q -qq; ~~t, ~. cCr ~~ ~ 1Rfi i
, :;, : 'ibrn'" c"

(A) ~~ (B) ~.R
2

(C) ~R
2

26 In a room where the temperature is 30°C a body cools from 61°C to 590C
in 4 minutes. The time taken by the body to cool from 51°C to 49°C will
be :
(A) 4 min (B) 5 min
(C) 6 min (D) 8 min

-qq;W -q, ~."ffitr 30°C i, ~ ~ 61°C ~ 5goC ttq). 4 ~ -q oatr
~i I ~ q;)- 51°C ~ 49°C 0Cf) ~ ~ ~"(iffIT"(11l"q i -
(A): 4 m (B) . 5 ~

.~t i:-

(C) 6 ~ (D) 8m

27 The emissive power of a body at temperature T(K) is E. Then the graph
between 10geE and loge T will be :

-qq; ~ cCr crrtr T(K).1IT \3ffiGf"f &¥ffiT E ·t'l 10geE ~ loge T t- llttr

JhsH~jf t'

(A) IOgJ\
~ logeT

13

~ logeT

[ Contd •..
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28 The wavelength of a wave in a medium is0.5 rn, The phase difference
between the oscillations at two points in .the medium due to 'this wave

is ~ • What is the miriimum distance between ,these points ?

(A) 0.05 m (B) 0.1 m
(C)0~25 m (0) 0.15 m

~ ~ -q ~, atrr ~ a{il'e4 0.5 ~ tl '"{« atrr t ?fil\UT ~

-q err'~arr 1R ~ t,~ q,ijlIOd< ~ tl'~ ~"~eU t ~ ~
{fr.t : r

(A) 0.05 ~

(C) 0.25 ~

(B) 0.1 ~

(0) 0.15 ~

29 Two waves, each of amplitude Iao ' produce a resultant wave of 'amplitude

,ao' on superposition, The phase difference between the two waves is' :

(A)
1t 21t- (B) -
3 3

1t 1t
(C) - (0) - A"

2 4

'ao' ~ ~ -tr err ot1T ~ ~ 'ao' ~ -trqf):ullifl m
~ ,qmfi ~ I <If;IT ffi1TI t, 1fW CbijllOd< t :

1t 21t
(A) - (B) -3, 3

1t 1t
(C) - (0) -

2 4

, .30 Frequency oftwo sound waves are 334 Hz and 326 Hz. If the velocity .
of the sound is 330'm!s, thenthe beat period when the two waves superpose
is :
(A) 8 see (B) 1 see
(C) 0.125 see (0) 0.25 see,
err ~ ffi1TI 'cfiT ~' ~~T: 334 Hz ~, 326 Hz t I ~ ~'qrr ~
330 ~~. t, 0) ~ "ffttIT ~ ~ ~ 'IT ~ qmrr ~
(A) 8 ~ (B) 1 ~

(C) 0.125 ~
HMDC/13-A..,..AJ

(0) 0.25 ~
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31 A stationary source emits a whistle at a frequency of 200 Hz. .If the velocity
of propagation of sound is 340 mis, then the observed frequency, if the, ,

observer is moving away from the source at 25 mis, will be :
(A) 185.Hz (B) 215 Hz
(C) 175Hz' (D) 225 Hz

~ ftfR mer 200 Hz·~ c6t ~ MI3~~d crnrr ~1"Q'fe: ~ ~.
C6T~ 340mls t, 0) ~ ., ~. fc6 ~lftq).-mtr ~ 25 mls c6t,~
~ ({ ...~ -m i, ~
(A} 185 Hz

(C) 175 Hz

(B) 215 Hz

(D) 225 Hz

32 Two mirrors are inclined at an angle of 500• The number of images formed
fqr. an object placed in between the mirrors is :
(A) '5

(C) 7
(B) 6
(D) 8

~ cNar' 500 qijoy 1R -3lffif t I ~ $:it c::tfuiT. iF;, l1'ttI' ~ ~ ~, 0) «R

~ gRt~4I'y c6t ~ t
(A) 5 . (B) 6'

(C) 7' ,~(D) 8

33 If c is the velocity of light in free space, the time taken by light 'to travel
a distance x in a medium of refractive index Jl IS :

(A) c
x '(B) JlX

c

(C) JlC

"Q'fe:~ ~T -q m~T C6T~c io)

q;lx~~~:q'wrr~l

(D) JlX

x
(B)

JlX
(A) -c c

x c
(C) - (0) -

JlC JlX

BMDCII3-A A] 15 [Contd .••
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(C) J2 ml s2 (North-west) (D) J2 ml s2 (North-east)

~ CfiVf. 5 ~~. ~ ~ ~ 1{Cf~~1T ~ TJfa" .q)\ w t I ~ 10 ~
~ ~ iSI<::(T1C6( 5 ~~. i3m ~~1T cCr'*t ~ ~ t, m ~ wrq ~ ~
~t:

1
(A) .J2 .~.r«.2 (i3m-~wt)

(C) J2 ~.r«.2 (i3m-~wt)

1
(B) J2 ~.~.2 (i3m'-1{Cf)

(D) J2 lft.r«.2 (i3m-1{Cf)

34 A physical quantity X is defined by the formula

2
X=IFi}

3WL ,

where I is moment of inertia, F is force, 1} is velocity, W· is work and
L is length, the dimensions of X are :

(A) MLT-2 (B) MT-2

(C) MI}r3 t. . (D) LT-l~ ~ mT X ~ ~ am qf{\iI~dcCr··~ t
IFi}2

X=--
WL3

~I~~, F~, 1} ~,
~ ~ :

(A) MLr2

(C) MI}T-3
(B) ur?
(D) u:'

35 A particle. is moving eastwards with a velocity of 5 mlsec. If in 10 s the
velocity changes by 5 mls northwards, what is the average acceleration
in this time ?

1 2
(A) J2 m I S (North-west).

1 2 . .
(B) .J2 ml S (North-east)

36 An arrow is shot in air. Its time of flight is 5 sec. and horizontal range
is .200 m. The angle of projection of the arrow with the horizontal is :

(A) tan~l (5/4) (B) ~n-l (4/5)

(C) tan-1 (5/8) (D) tan-1 (8i5)
~ -ah' CFil .~ ~ ~ ilfTdT t I ~ \3eeq~ qmrr 5 ~ 'Om ~. ~
1f{ffi 200 ~ t I -ah' ?fiT ~ ~ ~m CfiluT t :
(A) tan-l (5/4) (B) 'tan-l (4/5)

16 [ Contd ...
(C) tan-l (5/8)

HMDC/13-A_A]
(D) tan-1 (8/5)
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37 An object is tie4;i~Oa string of length land is revolved ina vertical circle
at the miQjllH,l ••.• ~y'!' ..When the object reaches -the uppermost point,
the string bre*AAd, it!1Q,§~ribesa parabolic path as shown in the figure
under the gra~.filMIl~ f4tce. The horizontal range AC in the plane of A
would be: '

VA
(A) I (B) 21

(C) J21 (D) 2J2 i
~ ~. em· I ~ cfiT·.~ ~, ~ ~ trr ~ ~er\ ~ it ~
.,. •• ~ ~N~~1R ~ ~ or 6Tfr ¥ ~ t ~ ~
~ •• Ib""!!~ ~:c~ l3l~q<q(i1fQC6~ 1f{ ~ ~tl
A 16 CRif it ~ -q"\ffi AC t

VA
(A) 7

(C), J21

(B) 21

(D) 2J21

38 Moment ~f inertia of a disc of radius R about a diametric axis IS

25 kg'-:"m2•The' M.I. of the disc about a parallel axis at a distance Rl2
from the centre is : .
(A) 31.25 kg-m2 (B) 37.5 kg-m-
(C) 50 kg-m2 (D) 62.5 kg-m2

R ~ cCr ~ ~ C6T ~ czm:r ~ ~~ ~ ~ 25 kg m2 tl
~ ~ ~ -« R12 ~ "lIT czm:r ~ ~ 13T~ ~ ~~ ~ C6T .~

~~:
(A) 31.25 kg.,-m2'

(C) 50 kg-m2

HMDC/13-A_A]

(B) 37.5 kg-m?

(D) 62.5 kg-m?
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39 A thin rod of length L and mass M is held vertically with one end on
the floor and is allowed to fall. The velocity of the other end when it
hitsthefioor,. assuming that the end wrueh11f§1' oritflgitfoor does nbi slip,
will be :

(A) JiL (B) J3gi

(C) 1f (~
(0) !J3gi

.- 2 '
, ~ 1 . -. ;~ . ,~, ,,: .::-- .,:,"..

L ~ ~ M S\0l4¥t1"i ~"'i:tq; "tRttr ~,' ~. ~ fuu ~ 'tf{t, q;f

f;'3!(~~. ~·~'\fflffT.tJF~ 1lRff'~ fc6 ~ ~ftm Rb(1~dl
" . 1 " ' .

'ftY t, ~ ftrr C6T ~ ~ ~ ,~ -« GcfHldl t, ~ :

40 X and Y are two loops made from same wire. The radii of i{'~d Y are

'. ' . I .. . ~
71 and 72 and their M.I. are 11 and 12, If ..l.= 4, the value of - is :h . Ii.

(A) 42/3

(C) 4-2/3

(A) 42/3
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41 A particle executes.SHMin accordance with x =A sin rot. Iftl is the time
. .i:'h~rh '-' ; A". ....
taken by It tq+r~~ l~qm .~l~·::::0 to x =~ 2" and 12 is the time taken by

. ch fr ~,It to rea om x= - A to x =A, the value of I} 112 IS.:. 2

(A) 2 1
(B) . 2

1
(0) 3(C) 3

~ CI)Vf x=1$inrotI~ ;~l~ll\iN'· ~p~ ~. \IT lll~~fl-~ (1;)

,-;,;x=o -« x=-J3~A ~ ~'.q t{~ ant x= .JjA~ x=A ~~
,2 -.q." . 2 f,~

.q 12 ~ WRIT t, -aT I} / 12 ~ lJFf t .
1

(A) 2 (P
(B) 2 .

1
(0) 3

. \ .

(C) 3

•
42 .Theweight of an object is 90 kg at the surface ofthe earth. If it is taken

to a height equal to half of the radius of the earth. then its weight will
become :
(At"·135 kg (B) 45 kg
(C) 60 kg (0) 40 kg
"~ ~ 1fT"{. '9:e;cft.c6t ~ lft 90 ~ t 1 ~ ~ '9:e;cftc6t ~
c6t .~ t ~.~·lft ~ ~ ~ -aT ~ 1fT"{ ~ ~

(A) 135 fcfim . (B) 45 ~
(C) 60 fcfim (0) 40 ~

43 The escape velocity on earth is 11.2 km/s. If the body is projected out
with twice this velocity, then the speed of the body far away from the
earth, ignoring the. presence of any other object in universe, will be :
(A) 11.2km1s (B) 22.4 km/s
(C) 19.4 kmls (0) 15.2.km/s
'9:uft" 'tIT ~ ~ 11.2 km/s \"1 ~.~ ~ Cf)).~ ~. ~ -« lf~ .
~. \iI'Rfr. t -aT '9:uft" -« ~ ~ ~ ~ C5T ~, ~. -q ~ ~a1Y
c6t I3q~fti(1;) ~ .~ ~, m
(A) 11.2 km/s
(C) 19A km/s

BMDC/I3-A_A]

(B) 22.4 km/s
(0) '15.2 km/s
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20
(A) 3 mm

j .-

(B) 60 mm

44 The excess pressure inside' one soap bubble is~,three times that inside a
second bubble. The ratio' of the volume of first bubble to' that of the second :
(A) 1: 27 (B) 27: 1 -
(C) 1: 9 (D) 9:, t
~ t- ~ ~,t ~ ~ ~7~'~ t ~ ~ ~
c6f,,~ 1¥ -aR_~1 ~ tl ~ ~ ~ ~ ~ t ~ Cfil
~t: '
(A) 1: 27 (B) 27: 1
(C) 1: 9 (D) 9: 1

45 Water rises to' aheight of 20 mm in i'8ipillary. If the radius of the capillary
is made ene third of'its .previous value then the new value of capillary
rise will be: I L(~

20 ,I

(C) "9 mm (D) 180 mm op?, ('

~ ~m 1¥ lWft 20 mm ~,oct) ~ tl ~ ~m ctr ~ 1{cf
lWf -« ~ ~ q)\' ~ ~ -at ~ tl'AT ~ ~ oq), ~ ?

20
(A) 3' mm (B) 60 mm

(C) 9 mm
20

(D) 180 mm

46
rr

A steel ring of radius r and cress sectional area A is fitted en to' a wooden

disc of radius R (R > r).. If Yeung's modulus of the steel is Y, then the
force with which the steel ring is expanded is :

AYr
(A) (R-r)

(B) Y(R-r)
r

(C) AY(R-r) (D) AY(R..,.r)
R ~

~r ~ ~ ,Cf)lG A t ~ ~ ~ q;)- R ~ (R>r) c6f ~
ctr ~ ~ "q1' ~ ~ tl ~ ~ Cfil tM ~ ~.y m at
'~ ~ t fcrnm 1¥ WTT ~ t

AYr Y(R-r)
(A) (R-r) (B)

r

(C)
AY(R-r)

(D)
AY(R-r)

R r
HMDC/13 ..A_A] 20 [Contd ...
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47 . Theoretically the value of Poisson's ratio 0 lies between :
. ;,,·,)1 ~k.Li

(A) 0<0<1 [\Ci (B) -1<0<0.5

(C) 0.2 < 0 < 0.4' : , , . (0) -1 < 0 < 1

~ ~ 0 \'t~C@Jfktl:6"'1:fR rtt lfml· ~:,t:

(A) 0<0<1 i. (B) -1~0<O.5

(C) 0.2< 0 < 0.4 (0) -1 < 0 < 1

. 48 At what temperature, the rms velocity of gas molecules would be double
of its value at NTP, if pressure .is remaining q()n~tant ?

(A) 819°C ' d ) , ~ ''.'i819'1<,
(C) 546 K (0) . 546°C
~. 'ffiCf 1:IT, fm it; ~~ qrr crt ~ ~, NTP"tIT .~. 1Wf C6T ~
m~~~~~? '~',
(A) 819°C ((7 (B) 819 K r >

(C) 546K . (0) 546°C

49 The average kinetic energy per mole of hydrogen at. given temperature
is :
(A) equal to that of oxygen. (B) 16 times that of oxygen.

1 1
(C) 16 times that of oxygen. (0) 8' times that of oxygen.

~ ~ 'ffiCf .1R ~1~~1ii1'1~ m=a ~ ~. ~.~, ~T~ii1'1 ~ m=a
lffiri' ~ ~ ~:
(A) it;~. m-aT tl

1
(C) ~ 16 ~ m-aT tl

(B) ~ 16 ~ mt t I
1

(0) ~ 8' ~ m-aT t I

5 . '. .
50 One litre of a gas (with Y=3') at NTP is compressed adiabatically to one

cubic centimeter, then the resulting pressure is:
W10~ ~ 1~~
(C) 105 Aim .(0) 100Atm

Q;1t\cf) 1R~ ~ fm (Y =~) q;) ()q:G1&1 ~ -ij-'} 'eft W1t. ~ ij~rgd

~ '\ffi"ffi t -aT qf{oll4l ~ t :
(A) 10 Atm

(C) 105 Atm
HMDC/13-A_A] .

, (B) 103 Atm

(0) 100 Atm
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51 Chloroform reacts with the following compound.ite give a hypnotic:
(A) . Phenol
(C) Acetone
Cf(t(1 () l614 ~ <frftrq; -e- I3ffiiRfilll

(A) ~
(C) q6\21~

(B).R-NH2
(D) HNOj'

q){ ~('jtff&tfi~·~ t
(B) R-NH1 .'
(D) HN03

52 Which of the following is most reactive towards hydrolysis ?

(A) CH2= CH - CI. DO(B) CH2 = CH - CH; - CI

. (C) C6HsCI (D) C6HsCH2CI

~ 1l -e- .~ m -.sNr~ ~ m ~ ~ i3t~~lIl~fuir. t ?

(A) CH2 =CH-CI (B) CH2 =CH-CH2 -CI

(C) C6HsCI (D) C6HsCH2CI

53 Most soluble in water is :
(A) n-butyl alcohol
(C) see-butyl alcohol
ijffi 1l ~ ~~fuir t
(A) n-~q(iq)"\It'il(i1

(C) sec-~q~t'il(i1

(B) iso-butyl alcohol
(D) ter-butyl alcohol

(B) iso-~ q~t'iI(i1
~q "\~(D) ter-~<'\'I(iq)I&I(i1

, .~

54 The main product of the following reaction is :

R-COOH+CH2N2 -e Product
(A) R-CONH2
(C) R-COOCH3
~~q;r~~t

(B) R-CN
(D) R-COONH4

R-COOH+CH2N2 -t~

(A) R-CONH2
(C) R-COOCH3

(B) R-CN
(D) R-COONH4

55 Reduction of R-N02 with Zn/NH4Cl gives:

(A) R-NH2 (B) RNH-OH
(C) RH (D) RNO

Zn/NH4CI &m R-N02 ~ ~ -e- ~ t :
(A) R-NH2 (B) RNH-OH
. (C) RH . (D) RNO

Aglasem Admission
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56 Most reactive carbonyl. compound is :
(A) HCHO (B) CH3CHO
(C) CH3COCH3 (0) C6H5COCH3
~ ~ h~ Cbldl1Pt(if ~ t ..
(A) HCHO (B) CH3CHO

. (C) CH3COCH3 . (0) C6H5COCH3

57 Monomer of natural rubber is. :
(A) 1,3-butadiene
(C) Propylene
!IIltiRtCfi .-m .q;y.ltCfi(ifCf)· t
(A) 1, 3-*lGIgI~'1

(C) sn\tl\itl'1

(B) Styrene
(0) 2-methyl.;l, 3-butadiene

. (B) (;!I~fH

(0) 2-~-1, 3-&!{O!Igl~'1

·58 R-N0
2
·.· HN02 )X NaOH

In above reaction. R is :
(A). CHr
(C) CH3CH2CH2-

Blue colour.

(B)

(0)

CH3CH2-

CH3-CH-
. ,
.CH3

R-:N0
2
· ..HN02 )X NaOH

I3QUiifd~ftf&~1 .q R t
. (A) CH3-

(C) CH3CH2CH2-

(B)CH3CH2-

(0) CH3 -CH-.,
CH3

59 Which pan- of hexose on reaction with phenylhydrazine gives same
osazone?
(A) glucose and ribose (B) glucose and sorbose
(C) glucose and fructose (0) fructose and sorbose
~ q)T etR m ~ ~ $1~~ilft'1~ ~ftt&~1 q)\ mIFf ~ijI1l11'1
~.t ?
(A) ~ Cf (J~i(1ij

(C) ~ Cf gJCfi)ij

HMDC/l3-A_A]

(B) ~ ~ (11<aOij
(0) &Jq:i\ij Cf (1'l<aOij
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60 An-example of colloidal sol in which' the affinity of the sol particles
for the medium is due to hydrogen bonding is :
(A) .sulphur in water (B) gold in water

'(e) Fe(OHh in water (D) protein in water
cb't(i11~tt ~ CST .~ i3&I&{OI ~ ~,. tn- t60IT, cCr:~ .i5 m~ ~
~1~~'1 ~ ~ C6'f{V£ ~ .

(A) \iRiT~' ~ . (B) \iRiT~' ~

. (e) \iRiT~ Fe(0H)3 (D) \iRiT~ ~

61 In the metallurgy of which of the following metals, the-oxide .of metal
is reduced' by electrolytic reduction process :
(A) Fe (B) Cu

~ .M @ ~
~ .~t • ~~ \jilctel~gC6f ~ ~ \3Iq~c4l~ ~
&m~~~.
(A) Fe (B) eu
(C) Al (D) Ag

62 The ores of -aluminium .and tin normally occurs in the form' of r

(A) sulphides (BY oxides .
(C) carbonates (D) sulphates

Q\ifl:lPt~'1 o~ ~ ~ -~ ijl'lI'4a: ~ Wl ~ ~ iifffi t :
(A) ij('t<6l~g (B)\3Ilctel~g

(C) C6lail~e (0). ~

63 The correct sequence of electron affinity is :
(A) 0 > F > CI > S (B) 0 > S' > F > CI
(C) F > Cl > Br > I (D) CI > F > Br > I

~&«T'1~ C6f mt R)q ~

(A) 0 > F > Cl > S (B) . 0 > S > F > Cl

(C) F > CI > Br > 'I (0) CI > F > Br > I

64 Which of the following ions has smallest ionic radius ?
(A) Mg2+ (B) Na+
(C)F- (D) 02-

~ '~ ~ Cf)ll \jiI~PtC6 ~ qmy aw:r=r.~ :

(A) Mg2+ (B) Na+
(C) F- (D) 02-
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65 Which among following transition metals does not show. variable
oxidation states ?

w.~ 00 h
(C) Ni . (0) Sc
M f.1ijHful- ~ai ..qr "«- ~ * qf1c(d~~ ~i,<Rt\Cfi{QI ~."fif
G~mftt ?
(A) Cu
(C) Ni

(B) Fe
(0) Sc

66 Wbich of the following compounds has highest oxidation_state of carbon?
(A) CH4" (B) CH3CI
(C) CH2CI2 (0) CHCl3
~ ~ R .-« ~ ~ c6T ~TcRfICfi{OI ~ ~ ~ ~ ?
(A) CH4 (B) CH3CI
(C) Clf2C12 (O)CHCh

67 Correct example of a"carbide which gives methane on reaction with
water is :
(A) SiC (B) Mg2C3
(C) CaC2 " . (0) Al4C3

\

\iRir "-« atf\1R.)(U cp{ -q¢;:r t.f ~ Cf)lliIi~ ?fiT ~ \3~I&{OI t
(A) SiC (B) Mg2C3"

(C) CaC2 . (0) Al4C3 "

68 Select the element which"does not form double bond :
. (A) Nitrogen (B) Sulphur
(e) Silicon (p) Phosphorus
iR{mq?fiT~~\iIT~~~~ :

(A) "1l,sa'31'1 (B) ~
(C) fb~.~ (0) 4?TwiIHI

69 The strongest reducing agent among the following is :
(A) NH3 (8) PH3

(C) AsH) (0) SbH3
~ ~ -« "giil(i1{'H'I ~qillqCf) t
(A) NH3 (B) PH3
(e) AsH3 (0) SbH3"
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70 The compound which exists as "a dimer is :
(A) uci (B) Mgel2
(e) Alel3 0 (D) sici,
~ t" Wf ~ --1Wn "\jffifi t. ~ t :
(A) "LrCl (B) MgCl2
(e) Alel3 (D) SiC14

71 Which .oxide of lead is red in colour?
(A) PbO (B) Pb02
(e) Pb304. 1" (D) Pb20
~ (fiT crfR m oirq(1I~& ~- m $I mr t ?
(A) PbO I. (£ (B) Pb02

'f ,j(e) Pb304 ,(D) Pb20

. 72 Zinc reacts with hot and concentrated H2S04 to give:
(A) H2' (B) S02
(e) S03 (D) H2S
~ ~ Cf "{fM( H2S04 -« "If'tfttiql CR t ~ t
(A) H2 (B) S02
(e) S03 (D) H2S _"

73 Which of the following complexes will shew optical isomerism ?
(A) [er(NH3)sel]Br2 (B) K4[Fe(eN)6]

(e) [eo(en)3]e13 (D) [Ni(eO)4]

~ -q -« crfR m ~ ~lCfi ij'llqqqdl ~~1Rrrt ?

(A) [er(NH3)sel]Br2 "(B) K4[Fe(eN)6]

(e) [eo(en)3]e13 (D) [Ni(eO)4]

74 Select the complex which exhibits geometrical isomerism:

(A) [Pt(NH3)4]CI2 (B) [Pt(NH3)3 ClJel

(e) [Pt(NH3)2 e12] (D) K[Pt(NH3)e13J
i3'« ~ °(6T~ ~ \iIT \R:ilfltfaij"'1lqqqdl ~~furr t :
(A) [Pt(NH3)4]C12 (B) [Pt(NH3)3 elJCl -

(e) [Pt(NH3)2 el2]
28 [ Contd .•.
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7,5 Which of the following gases turns the" acidified potassium dichromate
paper green ?
(A) HCI (B) H2S
(C) CO2,, (0) S02
f¥;:r -q -« etA ~ -1ttr ~ ~m $I'ibl~l lf3l q;)·ro q;«ft t ?
(A) HCI (B) H2S
(C) CO2 (0) S02

76 Which sulphide is soluble in yellow ammonium sulphide?
(A) HgS (B) PbS
~'OO ~ ~
~ ~q)f.:1t4'f ij(iq)I,$ -q ~m ij(iq)I~,~' t ?
(A) °HgS (B) PbS
(C) CdS (0) SnS

77 Compound which exhibits geometrical isomerism is :
(A) Propene (B) I-Butene i

(C) 1, 2-dichloroethene. (0) 1, I-dichloroethene
~ ~\7q,fl:Ifd, ij'fIQt4Qdl ~~mrr~
(A) ~ , (B) 1-~'
(C) 1, 2~I~cmh'qtfR . (0) . 1, I.gI,cml<h~efuI

78 State ofhybridization of carbon atoms in vinyl acetylene is/are':
(A) sp2' (B) sp
(C) sp2 and sp . (0) sp~, 'sp2 and sp
QI~f.:1(i1~(11~(ifi~-q ~ ~~ c6T mvr '.~ t :
(A) sp2 , . (B) sp
(C) sp2 Wtll sp. . (0) sp3, sp2 O!IT'sp

(C) CH3 -CH-,-CH3
I
CH3

II.MDC/l3-~A ]

79 Compound whichcontains the most reactive hydrogen among the following:

W ~-~ .~ ~-c~-rn3
CH3
I

(C) CH3 -CH-CH3 (0) CHi -C-CH3
I I
CH3 CH3

f¥;:r '1) 'l)~ ~ ~ ~ ~A~~ &1'~)iJI'~ f:
W ~-% 00 ~-rn2-~

CH3I .
(0) CH3-f-CH3

CH3 .
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. (C) H2(g) +12(g) F 2ID(g)

HMDC/l3-A_A 1

(D) N204(g);::: 2N02(g)

[Contd.•.

80 A radioactive element belongs to the group 14 of the periodic table, it
undergoes ~ - emission, the product obtained belongs to the following
group of the periodic table :
(A) Group 12 (B) Group 13
(C) Group 15 (D) Gr0Up 16
~ ",<~q)e~(4· "ffiq.. ~ ~. t q1f-14 % .~ t, t« . .q J3 - ~

oot, ~~ ~ ~ ~ ~.~% ~m?
(A) ~-12
(C) ~-15 .

(B) ~-13

(D) ~-16

81 -For the equilibrium CaC03(s) ;::: CaO(s)+C02(g) the equilibrium constant

Kc is represented by the following' form :

[CaO][C02J
(A) [CaC03]

[CaO]
(C) [CaC03 J :

[CaC03]
(B) [CaO][C02]

~ '(ill<:f ~ ~ : CaC03(s) ;:::CaO(s)+C02(g) ~ ~ Kc'~ ~ .

%G:~~~t:

(A)
[CaO][COzJ [CaC03]
[CaC03)

(B) [CaO][C02J
[CaO]

[CO2][CaC03]
(D)(C)

82 Select the. equilibrium which is not affected by' the change of pressure :'

(C) H2(g) +I2(g) # 2HI(g) (D) N204(g}~ 2NOZ(g),

~ "~ q;r .~ ..~ \If) <01r ~ qf{CfJ'i ..~ ~'1I~d ~. 00 i :
(A) . N 2(g) +3H2(g) # 2NH3(g) (B) PClS(g) ~ PC13(g) +Ci2(g)

30
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83 Select th~ species.which does not act as Breasted base :
(A) H20 (B) H30+

(C) NH3 (D) NH2

~ Rqij)iJ1 $I ~ ~ iffl· ~ lftT{ rir· ~ &1<:4&1( .~ .~ t :
j

(A) H20 (B) H30+

(C) NH3 (D) NH2

84 Select incorrect sequence of solubility product values among the following:
(A) CoS > 0 CuS (B) NiS >. PbS
(C) F~dl-I)3;' Fe(OH)2 . Q»' Ni(Ol-I)2 > Cr(OH)3

~cl~dl !!U''fCf)(ij .1WiT t .~ ~ tiT. ~ ~. :

(A) CoS >CuS (B) NiS > PbS
(C) Fe(Ol-I)3 > Fe(OH)2 (1) Ni(OHh>Cr(OHh

85 The correct relation between' hydrolysis constant(Kh) and degree of

hydrolysis (a), for the following equilibrium 'is : .•.

A-+H20~AH+OH-
•..J¥.(~) a= w (B) a--

Ka ~

.fi!(C) a= .a (D) a--
. Kw . ~

".~.~t ~.~~ ~ (K~ atTT~· ~ c6T 1{t5(T (a)
tllW~~i:

A-+H2°.:AH+OH- .

(A)'~'=t~~c

(C) '.fi!KoCa= a
Kw
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(A) . +77.2 kJ I.

(C) "-58.6 kl , .

(B) -77.2kJ

(0) +58.6 kJ

86 A basic buffer is made by mixing the solutions of :

(A) NaOH + NH4CI (B) NH40H + NaCI

(C) NH40H +NH4CI (0) .NaOH + NaCI

~ ~ l(1:tIT ~. ~ ~(tI~.,l·1f>1~ 1f{ 1f'ffiT ~. :.

(A) .NaOH + NH4CI

(C) NH40H + NH4CI

(B) NH40H + NaCI

.(0) NaOH + NaCI

87 The value of MI (Heat of neutralization) is minimum for the following
mixture:

(A) HCI + NaOH (B) HCI + NH40H

(C) CH3COOH + NaOH (0) CH3COOH + NH40H

Llli ('3GIQ);f\CI){UI ~) "CbTlJR ~ ftrSJIUTt ~ ~ Wn
(A) HCI+ NaOH (B) HCI + NH4OH'

(C) CH3COOH + NaOH (0) CH3COOH + NH40H

88 On the basis of following equations the heat of dimerisation of N02 .

will be :

(i) N2 + 202 ~ 2N02 Llli=67.9kJ

(ii) N2+202 ~N204 MI=09.3 kJ

(A) +77.2 kJ . (B) -77.2 kJ

(C) -58.6 kJ (0) +58.6 kJ

MI=67.9kJ

..
MI=09.3 kJ

32 [Contd•••
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89 On. the basis of the given equivalent .conductivity :

Aoo (NH4CI) = 130

Aoo (OH-) = 174
-

Aoo (crj =66

The value of Aoo (NH40H) will be :

(A) 304
(C) 108

(B) 238
(O) 64

~. ·~~ic61 tUiilCfidl t 1Wf t ~ tr{
\ .

Aoo (NH4CI) = 130

A~(OH-)=114

Aoo (CI-) = 66

A';" (NH4OH) q;r 1Wf WIT :
(A) 304
(C) 108

(B) 238

(0) 64

. 90 .. The relation : half-lifeh'i)~ [~l'is valid for the fuUowing :

(A) zero .order reaction (B) . first order reaction
(C) second order reaction (0) third order reaction

~ :~~h~)~[~r·~ flFr t .~.~t:

(A) ~~ ~ ~~Psfi(U (B) ~tp:f ~ ~ft4i1>~1

(C) ~. ~ ~ft4i1>~1 (0) ~ q;)fG~ft4Ps6~1

91 'Aerosol' i~ an example of following colloidal system :
(A) liquid in gas (B) solid in gas
(C) gas in liquid (D) gas in solid
.'~{)(,If\il;~ Cf))(ifT~~ -womfr ~ ~. I3GI~{UI t :
.(A) .Iffi· ~ .R . (B) Iffi ~ om
(C) -R ~ Iffi (0) om~. Iffi
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(B)ftG

(0) ~

92 In spectral series of hydrogen, the series which does not come in infrared
region is :
(A) Pfund
(C) Paschen
&1~ljt\l1'1 ctr ('Q«ti1
~i:
(A) ~

(C) 1lT~~

(B). Brackett
(D) Lyman

~~'~~~~~~'~~i,
'" ,

93 Number of unpaired electrons in Chromium atom is :
(A) 3 (B) 4
(C) 5 (0) 6
Sf)''jf11~'i ~ ~ ~ ~~«T~"'ictr msz:rr ~
(A) 3 (B) 4
(C) 5 (0) 6

94 Select the paramagnetic molecule :
(A) B2 (B) C2
(C) N2 (0) F2
\:it j"g+ai cti\ ~ ~.q;r~~

(A) B2 (B) C2
(C) N2 (D) F2

95 An example of sp2 hybridization is :
(A) OF2 (B) H2S
(C) BeC12 (0) SnCl2
sp2 ~ CtiT ~. 13~1&<OI t
(A) OF~ (B) HzS
(C) BeCl2 (0) SnCl2

96 Select the solution which shows negative deviation from Raoult's law :
, N'~'., s, -.,,- ..'.,"--':t" >.

(1\) C6~ + CC14 (B) H20 + C2HsOH
(C) CS2 + Acetone (D) Acetone + CHCl3
~ ~ -« ~ ~(i1~'1q;r ~ ~ ~ ~ t ~ -« :tlUIIMCf)~~(iI'1
G~mrrt :
(A) .C6~ + CC14
(C) .CSz +~«tl)'1

HMDC/13-A_A]

(B) H20 + C2HsOH

(0) ~«ta'1+ CRCl3
34 [Contd•.•
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(C) 4 (D) 5

97 The value of i (van't Hoff factor) is maximum for:

(A) Al2(S04h (8) Na3P04
(C) BaCl2 (D) NH2CONH2

i (CfR m~) q)f 1Wi" ~ ,~ ~ atftlt6dJOf "WIT :

(A) Al2(S04)3 (8) Na3P04
(C) BaCl2 (D) NH2CONH2

98 For body centred cube (bee) the number' of 'atoms per unit cell is :

~A) 1 (8) 2
(C) 4 (D), 5

~ ~.f.R(bee) ~ ~ lJfu ,~,~ -q ~~ cir ~ mat i:
(A) 1 (8) 2

arrangement) is :,
(A) 0.155- 0.225 (8) 0.225 - 0.414
(C) 0.414 - 0.732 (D) 0.732 - 1.000

eq;qq ~ lj: (~tiGq;\ifcitq~) t ~'~ ~ ~

(~) for co-ordination number six (octahedral99 Limiting radius ratio

t:) t,
(A) '0.155...;0.225

(C) 0.414 - 0.732

(B) 0.225 - 0.414

(D) 0.732 - 1.000

100 Radioactive isotope used for the treatment of thyroid gland is :

~1 . 24(C) 24Cr (D) 11Na

'-11~<T~~ t- iW-IR t- 1tm ~ .~, ~ {~4t(1l16q ~ ..i:

(A) 32p (8) 131115 53

(C) 51 (0) 24
24Cr 11Na

HMDCI13-A_A 1 35 [,Contd.~.
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103 Double hydrogen bonds occur in DNA between:
(A) Adenine - Thymine (B) Uracil - Thymine

. (C) Adenine - Guanine (D) Thymine - Cytosine

DNA ~ fit ~1~*"\'IJf'1~ Pf;;:ffMtgd ~ lIW ~ t -
(A) ~ - ~ (B) ~ ~ ~1~flt'1

(e) .~ - ~ (D) ~ -: el~ilRl'1

101 The process of photosynthesis is :
(A) . Reductive, exergonic and catabolic

(B) Reductive, endergonic and catabolic
(C) Reductive, exergonic and anabolic

. (D) Reductive, endergonic and anabolic

~~'ffi~m ~ ~~: '
(A) \3tqt.t~d, ~~ (\£IJfYIJfPt~)Cf ~

(B) . -31qt.t~a, ~~wt Cf ~

(e) -31qt.t~d, ~~ Cf ~

(0) \3tqt.t~d, ~~wt Cf·~

102 Ribulose biphosphate carboxylase enzyme catalyses the reaction between:
(A) Oxaloacetic acid and acetyl Co-A
(B) CO2 and ribulose 1, 5, biphosphate
(C) Ribulose' biphosphate and phosphoglyceraldehyde
(D) PGA and dihydroxy acetone phosphate

(/~!\'I")11Jf iflelb'~l ~1a(ffcFe(f)1Jf ~ "'fttf?6q(q;) ~f{d qmn ~

(A) ~ ~fu&~ ~ ~ ~illt~(itq;)-~ ~ lIW

(B) CO2 ~ {1~~c;'111Jf 1, 5 ~ ~ t- lIW

(e) .{1~!\'I")11Jf~ ~ ~ IbI%)p(ite1:~~(~gt- lIW

(0) PGA crtn e(~~I~ilfcFe ~ft:til'1 ~ ~ ~

104 Amino acid binding site of t-RNA is :
(A) 5' end (B) Anticodon loop
(e) DHU loop (D). -ceA 3' end

t-RNA~ ~ ~ ~.~ mrr ~:
(A) . 5' ~ (B) ~;i\c6'ng)'1 ~
(C) DHU ~ (D) -CCA 3' ~

HMDC/13-A_A] 38 ICOdtci. ••·
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105 Operon contains :

(A), Operator + Regulator genes

(B) Operator + Regulator + Structural genes

(C) Operator + Regulator + Repressor genes

(0) Operator + Regulator + Structural + Repressor + Promoter-genes

~~

(A) ~ + '!l\i\Z( ~
(B) ~ + '!l~Z( + e (~'1I(qq; ~

(C) ~ + ):~Z( + ~.~
t- ~~•..

(0) ~. + <!l~l('+ e(~'1I(qq; + ,ftrnt + ~.nZ(,iNr'1"
.

106 Indian Sugarcane Breeding Research Institute was established :

• (A) In Coimbatore of. Tamil Naduduring 1912

(B) In Coimbatoreof Tamil Nadu during 1937

(C), In Punjab Agricultural University Ludhiana during 1912

(0) In Punjab Agricultural University, Ludhiana during 1937

"1<8t~ TAT' ~ "'je~I'1 ~ ~'sf
(A) q))~{( (d~i.'I'1I~), 1912

(B) q))tt~{( (d~i.'I'1I§), 1931

(C) ~ (~) ~Ulq;(YtI( t@tqfijl), 1912

(0) ~ ~)~q;(YtI( iP!qfijlt, 1937

107 Restriction endonucleases are used as :'

(A) . Molecular' scalpels for cutting DNA at specific sites

(B) Molecular cement for combining DNA segments

(C) Molecular primer for building .nacleotides in tandem

(0) Molecular degradation of DNA break up'

~Ff' ttui)~c#ft~il1 q;) ~ -q ~ ifflOTt :

(A) DNA <fiT ~T6G'~ 'tf"{' ~ ~ ~ •.~. ~(iq\f1 ~ "(Oitf'-q

(B) DNA'~ q;)' ~ ~ ~ ~ ~ ~ ~
, .

(C) ~~~ZI~6 c6l -m ~ ~. ~ ~ qft m
I· '

,(0) 'DNA.q,l ~ ~ ~ ~ ~-q
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(A) Hg'O'U Cd
(C) Hg 'O'U Cu

(B) Hg 'O'U Ni .
(D) Hg 'O'U Zn

H
nn
11

108 Bhopal gas tragedy is due to the release of :
(A) Methyl isocyanate (B) .Potassium isothiocyanate
(C) Sodium isothiocyanate (D) Ethyl isotbiocyanate

. ~ 1RJ ~ fc6"6t. funq-ij- rt dT ?
(A) fq~ '3f1~~1'lijl~~a (B) ~~ ~~I~"\a1t~~a

(C) {'()~~li ~~I~lHI~~a (D) ~ ~~I~liji~~a

109 Asthmatic attacks increase in certain seasons due to.: .
(A) Inhalation of seasonal pollen grains
(B) Ingesting of seasonal vegetables
(C) Low temperature of the winter season .

. (D) Low temperature and humidity of the winter season
~ ~"fffi :igi3TI' -q ~ t .m-u -q ~ m CfiT ttmUT t
(A) '3IigPtte.4 (l¥14)ol C6l.~:~qm
(B) '3IigP1teijfii!41·-q at0ij4~ol

(C) ~~. ~it ~. d144i11

(D) ~ dl4lil1 OQT ~~ ~~. -q ~ .
.

no Minamata and itai-itai ('ouch - ouch') diseases, respectively are caused due
the metal pollution of :
(A) Mercury and Cadmium (B) Mercury and Nickel
(C) Mercury and Copper (0) Mercury and Zinc
~ ~ -« m qffi frTfl:tofllildl 'O'U~-~ l61'f~1: ~ tnijaTI'
-ij- .~ t :

III Jhum cultivation. refers to :
(A) Tribal people cultivating Jamun trees
(B) Tribal people cultivating medicinal J?lants
(C) Tribal people of north-east following slash - bum agriculture
(D) Tribal people of north-east rearing erisilk worms using castor

plant leaves
~~~t:

. (A) '3t1~ql«t ~ t am iffl1l1" c6t WaT ~. -«

(B) '3t1~q,«t· ~ t am ~ ~c6t WaT m -«

. (C) i3'tW{<ffafl~fn€t·"ffiliY am ~m WaT
(D) i3'tW{<ff atl~ql~ m am ~ ~ CfiT iNQ)1f Cf)\ t~~

CfiT lffiirf

HMDC/l3-A~A] 40 [ Contd ••.
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112 The association of ants and the members of the family Rubiaceae is
known as ~: '
(A) Omithbphily (B) Entomophily
(C) Myrmeeephily (0) Anemophily
~ 3ffi" ~~~€t ~ t ~ t ~ ~i6~l'1ldl t -
(A) ~q{l4101 '(B) c6\l4{I1lOl',

(C) tfiil4 {PIOI (0) cllg;q {14101

113 Which one is not a; product of root ?
(A) Sugarbeet (B) Radish
(C) Carrot ",T: (p) Potato
~ ~ cnr ~" 'lff t
(A) $6~{' (B) ~

(C) lfFjft (0) ~

114 In most of the dicot stems, axillary buds develop:
(A) Endogenously fromplerome (B) Endogenously from pericycle
'(C) Exogenously from outer cortex (0) Exogenously from epidermis
~~l fult:J1q;l)~ ~, q;~ ~ ~i6fud M t :
~f'~'!ff ,'" "
'(A) ~ -e- atOfl:J1id (B) ~ -e- atOflillid '

(C) ,~~ -e-Elf&:J1id (0) ~ ~ -e- EI~:J1id

115 Stem, modified for photosynthetic function by appearing like leaves are
known as :
(A) Phyllode (B) Phylloclade
(C) Cladode (0) Tendril
'W{T ;ffl W6T~l ~~~ t ~ t ~ {OI410f1f{dt 3ffi"iiHlC6If{c6\ ~ ~ ~
m~~t~,t
(A) "tfUltq (B) ~ ~

(C) ~,lJCf' (0) ~

, .
116 Adaptive heterophylly is found in :

(A) Limnophila heterophylla
(C) Eucalyptus
atltRrld~qqqoidl ~ ~ t
(A) ff;tAj}Ij)~(if1 8~)1j)1$(YjJ

(C) «Cbf\it"le

(B) Alysicarpus heterophyllus
(D) Jack fruit tree

(B) qff;tif/4'/YtI 8i}1j)1$&8

(D) ~ iG tr
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117 The glumes are modified :
(A) Petals
(C) Tepals

~ (OIqloafiat
(A) ~

(C) lJfmr
(B}j:l!il~&li'I

(D) ~

118 .Andromonoecious guggal (Commiphorawightii) plants population are
those that:
(A) Produce more male flower bearing plants 'and a few female flower

. ';beiring plants' in a "Pbpulation '

(B) Produce more 'female flower bearing plants and a few male flower
bearing plants in a population ,. .

(C) Pr9du~ male flowers bearingplants and formaleflowers bearing plants
in 'equ~' number in a population~~H' ,"

, . "Jd.. (j i,..-';

(D) Produce both male and bisexual flower bearing':individ\W m a
population

atf1:t"1'hf~~Rri4Tt~' (ri}4jqJ(/ fcr?:T{) ~, 1i1~(1(94T t :
(A) ~ OR ~ ~ ~ ~ .~ ,1lro ~' ~ ~ li1~ij~I

.. - -'. "-! ";'j
(B) ~1lro ~ ~,~ om ,~ ;r{ ~ ~",~ 1i1~'{l(941

(C) W1'R' ~ ~ 'R ~ ~ om 1lro ~ ~ 'tJlC{q"' 1i1~(1&:11

(0) 'OR ~ Cf ~ ~ ~ ~ '1i1'1(1(941

119 Coleoptile represents :
(A) Covering of radical (B) Covering of cotyledon
(C) Covering of plumule (1) Synonym of plumule

~~t ..
(A) \(i1i!!>< 'cor ~ (B) ~q)T~

(C) IDF q)T ~ (D) ~'q)T WlRT~

120 Seed dispersal by parachute type mechanism is fouridin :

(A) Pea of Fabaceae (B) Mustard of Brassicaceae
(C) Cotton of Malvaceae (0) Taraxacum of Asteraceae
,~ ~cCtui~cCr Ww: ~ ~"~ t:
(A) ,~ t ~ -q (B) i("fi4;~ t ~' -q
(C) "lli'I~~ t ~ ~ (0) ~ t 2~4ffq;lf 1l

II
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121 Polygonumtype of embryo sac is :
(A) Monosporicocta (8) nucleus
(C) Bisporic octa (8) nucleate
41~·n~1{~ t ~Iq))q t.. <

(A) qq;~\JfI'!lC6 8 ~
(C) ~\JfI'!l4> 8 .:~

(B) Monosporic tetra (4) nucleate
(0) Bisporic tetra (4) nucleate

(B) . q4>~\JII'!I4>. 4 .~
(0) ~~\JfI'!1f6 4 ~

122 Nucellar. embryo is :
(A) Apomictic haploid
(C) .Amphimictic' .haploid
itiOstci\ tf 'f'T i : .
(A) l3f«al\JfPtC6 ~
(C) \3\f4«aliJIPt4> ~

(B) Apomictic diploid
\~\,' (0) Amphimictic vdiploid,',

.J (B) \1feH~PtC6 ~~(d'
mit{p) li5'iftfeifIJIPtCfi fA~~ld

. ~.
123 In callus culture, roots Can. be induced by the supply of .:

(A) Auxin and no cytokinin: .
(B) Higher amounts of auxin ..and lower amounts of cytokinin .
(C) Higher amounts of cytokinin and lower amounts of auxin
~i'lAuxin: 'and cytokinin in equal amounts
~ ~ -q, ~."Cf» ~ ~ \iff ~·t :
(A) ~ \3q·~d I3frt el~2JCf)I~Pt'1 ~
(B} ~ c6t. ~ ~ ~ e,~ilc6I~Pt'1 .c6t ~ ~

TP~cr) .el~ilCfiI~Pt'1·. c6t ~ ~. ~ ~ c6t ~ ~.
(0) ~ afR e,~ilCf)I~Pt'1 WIR ~ -q

124 Cytologically vascular cambium (lateral meristem) differs from apical
meristem by: .
(A) Presence of vacuoles, storage materials, and thin cell wall, isodiametric

cells
(B) Presence of vacuoles; storage materials, and thick cellwall, isodiametric

as well as radially elongated cells
(C) . Presence of vacuoles, storage- materials, and thick radial cell wall,

isodiametric .as. well as radially elongated cells.
(0) Presence of vacuoles, storage materials, and thin protoplasm,

isodiametric cells. .
~ •. ·fcmR ~ ~ ~ ~ O'tlT ~Mfct'if\ii41dCf) ftFi· t :
(A) ~, ~ 1fCUpf O'tlT If<Rifr qMm ftrfu, .e¥i~Jij)4 qMmaU

c6t\3q~Rt
(B) <ettIPt4i, mrfJo "<ro.t, lflfr ~m itrfu(ftlT e¥i64I6l£j q arfm ~

~1C6T~ c6t ~
(C) . ~, ~ ~, ~ ~ ~m ftIfu O'tlT e'i~1~4 ~

~ ~m~ c6t li5q~Rt
(D) ~, ~ ~, 1:fCRi(T ;;;ft(U(~ O'tlT e¥i~1e14 ~maU cCr

\3qfttlRt·
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(A) ~
(C) ~n~~
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125 Chromosomes consist of :
(A) DNA +. RNA
(B) DNA -+- RNA' + Histone
(C) D~A + RNA + Histone + Non-Hlsttlne. 1"35T~Tt-iF

(D) DNA + Histone + Non-Histone
~~mt:
(A) ir.Tf{.l?;. + i3ffi".Tf{.l?;.

(B) tr .1f-f.l?;. + i3ffi".Tf{.~. + itliA
. . 1 , "; ',', - ,,"'OJ)Jl "~FI',"_;

(C) tr.Tf{.'Q;. + am:.~.~. 't -~,+,.'W!-~
.' ,5,··,. ".' ,Lit! . ,. ,

(D) tr.Tff.~. + ~ .•+. ~-~ ,

orlon

mludc[ - i":;; ,.;JJii,'Ji .

126 Part of biosphere with adverse envir~)Ilw.eIltal.conditions. is· called as
(A) Parabiosphere
(C) Peribiosphere
~ ~ if)f SlRtt(Y1
(A) I:!{lij(I(lH4;,~(
(C) I:!f\ij(1~1wi\~{

127 Glucose is :
(A) Pyranose pentose sugar
(C) Ketose hexose sugar
~({chl\1l t :
(A) 41~{"1~ ~ ~ltu
(C) ~ ~ ~lC6-u

(B)
(D)

Furanose pentose sug~
Aldose hexose sugar",_on"..,.

(B) q:q:{"')I~ ~ ~rcim" i
(D) ~ ~q(11\1l ~lC6-u

128 ATP molecules produced respectively by NADH(H+) and FADH2 .during
electron transport are :' ,
(A) 3 and 2 (B) 1 and 1
(C) 2.and 3 (D) 3 and 3
~~«'f1. ttlI11"'d(UIt ~ NADH(H+) am FADH2 t a:m ATP ~ ~
t i6lT~T: r.
W 3~2 ~ 1~1
(C) 2 ~ 3 (D) 3 cr 3

129 The most abundant substance of middle lamella is :
(A) Suberin (B) Cutin '
(C) Lignin (D) Pectin
1l&r 4lf&tC61 ~ ~ 1ll3Il '~~. ~ ~trotf t

(B) ~
(D) '~
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130 In active leaf cells, the double membrane is absent in :
(A) Mitochondria (B) Chloroplast
(C) Nucleus (D) Lysosomes
~ ~ ~m -q,-~,~ ~ ltfr.t;
(A) 'f1~~ij)ffO~~1 - (B) Cf\i,\lu.C('fI~·

(C) . ~~ij (D) (i1l~6)('tl'f

131 Plant cell wall consists of :
I

(A) L~~n .+ h~~cellFose~. + p~i~ + lfpi~
(B) LIPId + protem + hemicelluloses + pectin
(C) Lignin + hemicelluloses '+ pectin + ceIllil16se'
(D) Lignin + hemicelluloses + tubulin + cellulose
~ ~lCfiT -filffi' ~~Ltl': );>'-l~'lb,-,

(A) ~ +~"'~\1~~I(f,·j~ + ~
(B) ~ + ~+~41il\1~1iJ11+ ~. -

(C) ~ +~,+ ~+ ij\1~~IiJ1'
(D) ~,+~ ..,+ q!Jt1 + ij\'1l~~IiJ1

132 Mobile sperms are absent in :
(A) . Rhizopus
(C) Cycas .
~C~'~jq~a'~ t,. .
(A) {j~ij'flQij

(C) (11~ijj(1

(B) Funaria
(0) Fern

(B) qg~n~1
(0) ~

133 Yeast produces an important enzyme complex that is mainly responsible
'for fermentation is :
(A) Aldolase (B) Dehydrogenase
(C) Invertase (D) Zymase
~ e:m f.&ffi 'f&tcC'lu\ If"J11~'f q;j'~fft1 ~ fc6 ~: ~ t ~
fij,",~1 <\" :
(A) ~~iJ1 (B) tt61~')I~~iJ1
(C) -~ (D) iJ11~~1i1

134 The archegonia, of funaria is distinguished from that of pinus by the
- structure of :
(A) Long neck
(C) Stalked venter
"fll1/1.?I1 c€r ~ ~,
(A) A-~
(C) ~~

BMDC/l3-A _A]

(B) Several neck, canal cells
(0) All of the above

~c€r ~"~ ~ fu9 t :
(B) ~~, om;r' ~~
(0) i34UfR\ ~

I I
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(C) 24 (D) 8

\

II
! !

'135 Agar-agar used to solidify the culture 'media is obtained from:
(A) Sargassum . (B) 'Gelidium 'qo",
(C) Ulothrix (D) .UWa
~ ~ ',CfiT om ~ ~ ~ arT\-arT\ em \3q~'WI~ ~ t ~
"!Wa %Gff ,~ t
(A) ('I1(~('I'i -« (B) '*r(i\f$lI'i -«

(C) ~~ ~ (D) ~ ~

136 The young meristematic cells of leaveaandstem of a gymnosperm has.
16 chromosomes, the number of chromosomes inthe .endosperm of the
same gymnosperm shall be :
; ..'~~.

(A) 16 ~(B) 32
,/

~y) 24 (D) 8
Rtt"'1IWQ, ~ ~ iiR ~ ,~ ~ ~"w()dC&J ~lCfif~ ~, 16 stif¥:i\,~
Jim tJ:~ Rtt"'1"WQ ~ ,\,,141t4 ~ t6J¥{J(11'i ~f~ ~5~U" 10)

(A) 16 (B). 32

137 Proportion of young individuals is highest in':

(A) Expanding population (B) Declining population,
1

(C) Stable population (D) Both (A) and (B)

~~,q;y~~mrrt:

(A) ~~ (B) d~
(C) ~ ~ (D) (A) iiR (B)M

138 A nutrient not required / has no function in plants except in Fabaceae,
but essential nutrient of animals whose deficiency makes a person anemic
as it is an integral part of vitamin B-12; and this nutrient is :

(A) Iron . (B) Calcium
(C) Cobalt (D) Cadmium

~ ~ If&T~ ~ ~ ~ ~ ~~~ 'fff t (~ Q,4Q(ft), ~
~~ ~ ~ tom ~:~ -« ~ q,l q41flllll 11 ~ t ~,~
~Pc1ll~"i B-12 q;y ('I'iICf)~d a:iTr t :
(A) ~ (B) ~fffill'i

(C)Cf)T~I(il (D) ~5fllllA

46 [ Contd ••.
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(A) Parasitism (B) Hyperparasitism
(C) Mutualism (D) Commensalism
~.~(i1<-'iI~c6){I~\jf1 cr;qq; q;r .13Rf ~ ~ m'l ~ Cfi&(i1ldlt.
(A) q('lft~dl (B) ~fdq<;Rl~dl

(C) (1~qif6i~di (D) (i&~fG1di

HMDC/l3-A _AI 47 [ Contd .••

139 Higher plants obtain nitrogen from soil that has :
(A) Six forms'(N03~ N02, N202, N2; NH20H, NH3) of nitrogen with

oxidation nUI\lger ranging from +5 to -3' .
. (B) Six fQlill1"St:(N03,N02, N202, N2, NH20H, NH3) of nitrogen with

oxidationnumbef ranging from +6 to -3·
.(C) Five forms (N03, N02, N2, NH20H, NH3) of nitrogen with oxidation

number ranging from +5 to -3.
(D) .Five forms (N03; N02, N2, NH20H, NH3) of nitrogen with oxidation

number ranging from +6 to -3
~ ~ ~. -« ~1~s?I\jf~ ~ ~ ·t, ~ t :
(A) "i1~?c1ii1~·$ lJ: w:i·(N03'· N02, N202, Ni, NH20H, NH3} ~

~TcRftC!b{ol.~. +5 -«:';'3't ;,j ,.

(B) ~I~?;liil~ ~ lJ: Wf (NP3, N02, ·N~02.N2' NH20H, NH3);~
~,iiRf1if6{til .~ +6 .<ij'; -3 t .

(C) ~1~s?lGt~t ~ Wf (N03, N02• N2,'NH20H, NH3) mctr ~TifEftCfi{OI
i' fi ~ +5 ~.u~:" \t~ ,

(D) ~i~~11jf4·t~ ~ (NO), N02,N2, NH20H, ~) ~ ~TcRftCfi{OI
~. +6-« -3 t

140 Series of natural changes in the dominance of a community
developing. on a previously barren I virgin .area is known as :
(A) Primary autotrophic succession
(B) Primary heterotrophic succession
(C) . Secondary autotrophic succession
(D) Secondary heterotrophic succession
!JIl{fAtif6;p;f I Wfd' ~ it ~ ~~~ ~ -q sutifdCfi qftqd~')j ?fit
~ em \lIRT ~ t :
(A) 1nllfl:iCfi ~ ~jifi'iOI

(B) m~' ~CSI'i411{\ -ltj!fi'ioi

(C) ~dl~q) ~ 13t1!filiUl

. (D) fmfl~Cfi~CSI'i411{\ 13tjifi'i°1

141 .Association of arbuscular microrrhizal fungi (AM fungi) in higher
plants is:
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142 Taiga refers to :
(A)· Temperate deciduous forest of northem ~
(B) Temperate semi-deciduous forest of at)..", _l."er~
(C) Temperate tall grass lands of. northera •••••
(D) Temperate coniferous forest of nortbelll heMJphere
~~~:
(A) ~ ~ t ~?rCiTmT ~ q;fi ~
(8) ~ ~ t ~1RfrarT.~ ~ CMl ~
(C) ~ ~ t ~~.~ -emf n-«
(It) -~$~~~'"

tlU •• ~a robusta) dmJlll_ fore.still kKtia is known as :
(~. Deciduous forest $) Evergreen forest
(C) ·bIb jungles GJI SciW - Thorny forest
~ • ~ (~Mt:w~) ~ q;f.ffiN.nd t :
~ -..if Cf'If (8) . ,II' JUi'I\ ~
~. ..~. (0) •• Cbia_ ••

144 A. sedimentary biogeochemical cycle. having gaseous phase is :
(A4 Phosphorus (B) Sulphur
(C) Calcium (D) O~n
~ ~ ~ 1({I{1I~PtCb ~ ";:fr fc6 ~ ~ 1l 1W{( \jfflft "
(A~ lf11(4b){{1 (B) 'ffiitfIT

(C) ~~~t:t (D) ailcffiNt"1

145 Green House gases include:
(A) CO2, CFC, CH4 and N20
(C) CO2, CFC, CH4 and NH3
iA~~t:
(A) C02~ CFC, CH4 a2fl N20
(C) CO2,. CFC, CH4 a2fl NFl3

(B) CO2, CFC, CH4 and S02
(D) CO2, CFC, CH4 and N2

.. (B) CO2, CFC, CH4 am S02

(D) CO2, CFC, CH4 a2fl N2

146 If the soil composition is as under, then which of the compositions can
have higher water holding capacity ?
(A) Clay> Silt> Sand (B) Clay < Silt> Sand
(C) Clay < Silt < Sand (D) Clay = Silt < Sand~ ~.~ ~.~ ~~, m q));f '{"IT~. ~ \lffi" ~
~~~ ?
(A) ~ ~ > ~ > 1ffiil (B) ~ ~ < ~ > ~
(C) ~ ~.<.~ < 1ffiil (O)~. f4¢ = ~ < ~
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147 Monera possess -
(A) Membrane bound nucleoproteins lying free in the cytoplasm.
(B) Gene containing nucleoproteins condensed together in compact masses.
(C) Nucleoproteins in direct 'contact with the rest of the cell substance •

.:..;. , (

(D) Only free nucleic acid aggregates.
~~-

(A) F$i~EI\S: ~13f/Sll<a1 ~1C5T ~ ~ ~ WI" -« ~ \ifffi ~I

(B) 'lfI1Riffl ~l3ftW)et.1 ~ ~ w:R $(6qlOjI11)=. ~ma ~ I
(C) ~13ft~i'tgH ~~ Wf -« ~)q:~~ 1:fGT~ t m~ ~ ~-m- tl
(D) ~. ~ ~t6 ~ ~ ma ~I

148 In Bryophyte's life cycle is characterized :
(A) By sporophyte completing the cycle independently and gametophyte

restricted' to antheridia and archegonia. .
(B) By independent gametophyte and sporophyte
(C) By independent gametophyte and dependent sporophyte
(D) By independent sporophyte and dependent gametophyte- .

jt~"\Itf)I~G?fiT~ 'tIR) ~ ~~ M ~ :
(A) af1il1I'1<{fttc:~ ~ 'tIR) ~ qm:rr i I3fR 9;tlOjehl~C: ~m4T I3fR

~ Cfq) ~ -mil il
(B) g~lOj~l<{fttc: I3fR csflil1I'1~C: ~ mai I,

(C) ~ g~lOjehl<{fttC:I3fR ~ ~il1I'1<{ftrc:
(D) .~ af)il1I'1C(ftrc:I3fR ~ 9/lOjq)),~c:

149 Pteridophytes differ from bryophytes in having :
,(A) Vascular tissues (B) Archegonia
(C)· Alternation of generation , (D) Mobile .sperms
lfl:e)tf)I~Ge, jl~"\Itf)I~~~ ~. i -
(A) Wwf ~ ~ (B) ~ ~

(C) ~ o;t6l"d (01' ~ (D) "tRif ~

150 The cell organelle t~at has highest oxidative catabolic enzymes is :
(A) Lysosomes (B) Mitochondria
(C) Endoplasmic reticulum (D) Golgi bodies
q& ~lCfitrT m-q ~~T ~Tffilt6l{) ~ o;"\J1l~lOj"qF) ~ i
(A) (iI'I1t61'1 (B) lOjl~2tC'b~'Ii
(C) -aRf: ~ GtIRriCf>1 (D) ~ ~.
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151
_,I

Mammals drink water and also ·obtaiJl ..·it·1t'P~ti;
(A) break down of glycogen into glucose., ,
(B) secretion of saliva
(C) conversion. of oxyhaemoglobin to, ~oglol?in

(D) oxidation of'glucose ; .' (

~ ~-11R ~ ~ 3HU ~~.I~·i~ ;,

. (A) ~(i1I~ctilJt1~ ~ ~ ~ -« '4T ~
(B) "ffi\ wqtT£ -« '4T
(C) i:}t'fcffi)it'i"\p~),~"1 t ~'il~('1"\'~"1 {Wj '4~Cld~ i -« ~

(D) ~ t i3ffcffi)4)(~f~ \fr

[t(\1J

152 Cretinism is caused by
(A) hypersecretion of adrenal cortex
(B) hyposecretion of adrenal medulla
(C) hyposecretion of thyroid
(D) hypersecretion of parathyroid
R6 ca~\iq q;-r cmuT t
(A) ~ CfigCffl q;-r~

(B) ~ .:~ CfiT atlNt4lC1

(C) tll<HIlia CfiT i3t1Nt41C1

(D) tutllll{llI6 q;-r .~

..

153 Retractile claws are found in :
(A) Cat and Lion
(C) Hyaena

i3i1~:q~lI~ ~ ~ ~ ..

(A) ~ creff ~"tt~
(C) (i1q)~\Sj~~~

(B) Leopard
(D) All of the above

(B) ~,~.

(0) \349;iffl<a'ir -q; .

154 Tasar silk worm is :
(A) Antheraea mylitta
(C) Bcmbyxfnori

~t~ cCtc:t :
(A) ~~ 'i1~Ri1?o1

(C) GlI~Cf(i ~

HMDC/13-A_A]

(B) .Antheraea .assamensis
(D) Philosatnia ricini

(B) ~~."'lijlit'ftHt

(D). "f)1~(ii'jePtlilf{Ri"1I{
52 [Contd .•.
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155 Lacteals are associated with:
(A) Secretion of lactic acid
(B) Absorption of long chain fatty acids.
(C) .Absorption ofShbrt chmh fatty acids
(D) Production of lyn'iph
~RR:~(i1.~ t :
(A) ~RR;q;~'$iIijTij ti'
(B) ~ ~ ~ qm ~t ~13fq5t~r ~
(C) s)tT ~ ~ ~,J'<'ff' ..~ ..~~~.'.'.~
(D) ~ t ~ ~'I; -if.( r

156 Chordae tendinae Jlr~found jn
(A) Ventricle of heart
(C) Joints
~-~"llW ~ t
(A) ~ t ~.q
(C) ~ ...q

r-'1P1, .i

(B) Atri~ of heart
(D) Ventricles of brain

(B) ~ t ~.q
(D) qffu&b if> ~ .-q:

157 .Melanin is secreted by. :
(A) erythroblasts of blood

I

(C) cells of stratum compactum
~~Pt'1 ~ mn t :.
(A) "trffi t l{f{Ulartlltt -« (B) ~ tfblfti)c6)< -«

(C) ~ q;'~Cf2q "ir ~lC6T~ -« (D) ~ ~~ ctt ~11(i1~1-«

(B) chromatophores of skin
(D) ganglia of sensory nerves

, 158 The pancreas secretes :
(A) Pancreozymin
(C) Somatostatin
~~W·~qmn.t
(A). &f}sn4)",,~fq'1
(C) (11~i)~~'1

(B) Angiotensin I
(D) Angiotensin II

nt"u~·

(B) 1{f."1 ~~'1~ '1 I
(D) l{f."I ~1~'1fu '1 II

159 Calcitonin regulates :
(A) Na+/K+ level
(C) Plasma Phosphate level
tt4titPt'1· ~. ctmfT t .:
(A) Na+/K+.~ C6T

(C) ~l t ~ ~ C6T

HMDC/I3-A_A J 53

(B) Cholesterol level
(D) Ca++ level

(B) q;)~~<T(i1...~·C6l

(D) Ca++ .~C6T
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160 . Which of the following endocrine .organs is involved in fighting emergency
situations by their active secretion ?
(A) Thyroid. (B) Pancreas ~';'.1,

(C) Adrenal cortex (0) A-dren!i1.me9ulJ~
Ptki~fuld .q. ctfA tIT aRf:-mctt·~ ~ ~ VfcraT -mr-34Iq)'fl:yq)ftttra~·
~ ~ .q~ C6\d1 t ?
(A) ~ltI<ltlg
(C) ~ Cbl(};cte .

(B) ~~1<f

(D) ~.

161 Which of the following statements is correct 1
(A) Tse-Tse fly spreads kala-azar. ..
(B) Sand fly spreads sleeping sickness.
(C) Trichonymphaa symbiQtU;protozoan is found in the. gut of termite.
(0) Pediculus humanus corporis is an endoparasite.
PtkiRwtRsJd .q cCFr tIT ~ '6tt·t ? '·1' .

(A) tft-tft ~ C6R'tT ijff{ ~ t I

(B) m ~ ~. R=tCb~« ~ tl

(C) ~ ~ \31ld" .q S::1~q))Pt+q)1 ~ «$Gft~ '~an' T.WlT 'GfffiTtl

(0) qfg~(i1« ~ q;;l(~rH'I ~ aRf: q (Gftcfl t I \

162 The most .dangerous metal pollutant from the automobile exhaust is .:
(A) Copper (B) Cadmium
(C) Mercury (0) Lead
~ ~ ~ PtCb(i1~. crm- ~ .q ~ &d <.,Iq;; ~ ~ t

. (A) "dilfr(B) tgflitl'1
(C) -qm (0) ~ 'i

163 Cantheridine is obtained from :
(A) red ants
(C) beetles
~~ <1~~1 ~ ~. t
(A) ~ ~ ~
(C) WI ~

(B) . ball weevils
(0) honey bees

(B) ~ wr ~.
(0) ~.~

164 The venom of cobra is :
.(A) Neurotoxic·
(C) Cardiotoxic
"WTq;rm~t·
(A)' ~(k'ifeR1Cb
(C) Cb1f!~'\1?1Pffl q;;

HMDC/l3-A_A]

. (B) Hemolytic
(0) Hepatotoxic

(B) . s1q)~~Cf)
(0) fe~i)z'@faq;;

54 [ Centd, ••
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165 Placenta •.ill tabbit! is
(A) Discoidal
(C) Deciduate ~<,
~~li6" .q ~ ~I\! '!

'~(A) fI~ltt~ ;:'J§ ; r

(C) 'Rt§~l

(B) Non deciduate
(0) None of the above

(B) . '1I'1iRt§~l
.(0) \!qgCfd ~. -ij-. q;)f ~

16!i Zonary placenta is found· in : .
(A) Artiodactyla
(C) Rodentia
Q&(fIlCfiI< ~.1:f('qT ~'t
(A) \3f1f!4tICfGI~l'tJ ~

: (C) ,~,,~.q . Ii,

(B) Cetacea
(0) Carnivora

167 How many spermatids are formed from a secondary spermatocyte ?
(A) 1 (B) 2 .
(C) 4 <. (0) 8
!~ l~~~q; ;.{qiJilel~ -« {qiJfU~ t : .
(A) 1 (B) 2
(C) 4 (0) 8

168 .:KazirangaWtldlife sanctuary is famous for :
(A) Tiger (B) Musk Deer
(C) Elephant (D) Rhinoceros
Cfi'J;;;ft(JII ~ ~ ~'t~I{U~~ t :
(A) 1{'(f.l t ~
(C) 1T'fr t ~

(B) Cfffi[fr 1ft t ~ .
(0) ~ t ~

169 In which state of"India is Chandraprabha sanctuary situated ?
(A) Madhya Pradesh (B) Uttar Pradesh'
(C) . Kamataka (0) Anmachal Pradesh
tI;s(w'tf ~'t~I{O~ 't'ffir t .~ -R~T~ t? f

(A) ~·rt~ (B) \ffi'{ rt~T
(C) Cfi"'lkCfi (0) ~(q°Htll't rt~

170 Which one of the following is a bio-degradablepollutant ?
. (A) Mercury . (B) Cadmium
(C) Plastic (0) Domestic Sewage
Pt"'1~f&d ~ ~ .~. ~ \jfqq, ••~~ t ?
(A) ~ (B) ~$fq~q
(C)l{IflfkCfi (0) ~ lRif~
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171 The technique of Amniocentesis is used for the analysis of :
(A) body fluids of amniotes (B) amnion
(C) amino acids (D) 'amniotic 1tUid
~Pt~l(n:fue dCb.f)Cb?fiT ~ ~ ~ \, ~~. ~ -q
(A.) lt~~(.; t ~ .~ ?fiT (B) ~?fiT

(C) ~ ~ ?fiT (D)~ ~ ?fiT

172 Vitamin K is required for :
(A) Conversion of fibrinogen to fibrin
(B) Conversion of' prothrombin to thrombin
(C) Synthesis of prothrombin
(D) Synthesis of haemoglobin
~ lip,., .K ·?ir encr~lTC6ffl .•~ ~t
(A) Cf)1~fi~")Ici1'1-ij- q;1~~'1 :ffi -q
(B) m~'1 -ij- ~ffi -q
(C) 5I't~ij t "{f~m-q
(D) iI'1")P(i11~1 t "{f~m'-q .

173 The innervation of heart is primarily meant for :
(A) initiation of heart beat
(B) regulation of heart beat
(C) activation of pace maker
(D) release of acetylcholine
~ ?fiT dfjrCblQ'1 ~: mrr t
(A) ~ ~ t (Pil{\{'1 t ~
(B) wr~t~t~
(C) llfu ~ t eRbQul t ~
(D) ltfefl(ffCbl{lf)'1t ~ t ~

174 In sympathetic nerve terminals neurotransmitters are :
(A) acetylcholine and cholinesterase
(B) cholinesterase and adrenalin
(C) adrenalin and nor-adrenalin
(D) non-adrenalin and acetylcholine
~j)CbAft ~~ -q ~ ~ - ~ t
(A) ltre~(ffCblJH o~ CblJ1~~\l1
(B) c6)J1~~1\l1 Q~ lt~~Rrt'1
(C) ltf\~Rtt'1 o~ "1R ltf\~Rtt'1
(D) "lIT lt~~Rrt'1 o~ ltre~I.'tCb")IJ1'1

56 [ Contd •..
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175 The basis1df~kism is :
(A) dev~ettf;df organ
(C) effector 'metabolism
~l1lcficn& q;y '.~ t :
(A) ~.C6T ~
(C) dqNilQ ,C6T ~

(B) reduction of organ
(0) effect of environment

(B) ~ C6T ~
(0) }Udlq(UI q;y ~

176 The eggs of ovoviviparous species are :
(A)· micro lecithal (B) macro lecithal
(C) telolecithal (0) alecithal
-3i6\i1 U9Jii1 Ifflfffl:iT ~ ~ ma- ~
(A) ~~tfldcil (B) l1~ltfldc6\
(C).~ (0) ~

177 .Mammals first appeared in
(A)· Permian
(C) Jurassic
~mfr l1chi~ m5G ~
(A) q (ftiQ'1 if
{C) '1"tftiCb if

(B) Triassic
(0) Cretaceous

(B) S:;IQ~Cbif .
(0) ~~if

178 Solenocytes are associated with:
(A) nutrition
(C) reproduction
.~~1'lijl~<;H~ m- ~
B(A) .~ -«

(C) ~ ~

. (B) respiration
(0) excretion

(B) ~CRVf ~

(0) <5rt'1'li~ ~

179 Which of the following annelids is a parasite on snails and frogs ?
(A) Acanthobdella (B)Pontobd~lla
(C) Branchellion (0) Glossiphonia
~kfRwtftgd if ~ ctR ,q~ftit6 mm om .~ lIT q (ilftcft ~ ?
(A) qtotil~(ffl (B) qTw:cT~(ff1
(C) a'c6l Rit'11'1 (0) 4(ffT<fIlblP1QI

180 A primary spermatocyte is :
(A) polyploid
(C) diploid
~~·~m,~t
(A) i§ls~fOld ~
(C) fA~fOld

HMDC/13-A_A 1

(B) haploid
(0) aneul?loid

(B) ~
(0) \jf~!!fbld
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181 Phenomenon in which a single gene"influences imo~.tMl one, trait· is"called: .
(A) Penetrance (B)'PolydactylY',j
(C) Polyploidy' (D) 'Plei6ttopy
~ ..~ ~.~ ~.~ ~·fcrm.~, Q"I~~,~'t,
Cf)~(ijId) t: " '"~,:;i:, ...' ' ,

(A)~RRfJ:j!' (8) -.~~ i

(C) . dI!~ldl" (0)1 "~~l~I<i\' -.

182

183
..
Pin-worm is :
(A}.f\ncylostQxna.
(C) Wuchereria' -,
'11R qtf t: .
(A) If<61~~)~ql
(C) ~~"{~I

(a)i:,.,Necat~r
(D). Enterobius

(B). .~.

(0) ~()r.tlij

184 Sepia, and Octopus swim swiftly by means of :
(A) arms
(B) lateralifins
(C) suckers
,(0) jet propulsionthroughsiphon ,
. ~ "O'U '~Tq;i)qij "ffi:r lffff -« ~ t
(A) . ® "im" .~ ..•. ' "

(B) If(~cf-~.1IfU

(C) ~ mr
(0) ~~,~~~.~

185 Which of the .following features is. universally present in .all sponges?
(A) marine habitat (B) presence of spicules
(C) presence of spongin fibres (OJ presence of spongiocoel
Ptk1~fuld -q -«~lm ~ W'fr ~ -qijlcf\f1fllC6 t ?
(A)' ~~i~Ai'·il: '(B) WI~~(i1 cCr' ~
(C) W~'1 ~ ~ ~ (0) i ~T;;ffl«t(ifc6T ~
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186 Thecoq~iroute through 'which~s passes to complete its life cycle
after 'infecting ~;•.fl;~$I),host is : '
(A) Intestin~,~4ver ~ Heart .~Lung, ~ Pharynx ~ Gullet ~ .

Sto~cl1;Tt, u.~es~ine, ' ',', , ''
(B) Outside -+lntestine -+ Liver -+ Heait -+ Lung -+, Pharynx -+

Gullet ~ Intestine
(C) Intestine 4 Liver ~ Heart -+Lung -+ Pharynx -+ Gullet ~

S*omaCh~lptestine ~ Outside -+ Intestine
(D) Outside -+ Intestine -+ Liver -+ Heart-+ Lung 4 Pharynx -+
, "Gullet --+ ' Stomach ,~ .. In.tes~~ 7 Outside, , ' ,' "." ' '),

q~f{6',~,,~~lU'l~ ~,i~,,·~',~'~q;)#~fJ1di~'t=.
~ ~,~.Cf)T~l~(UI ~ t,· ~ t: " '
(A), ana-' -+' ~ ~ ~, -+ ~ .,---+,~, ~ .•~, ~~, ~~~W

~",'~" '-",' ",

'l) .".,' ,',' "\

(B) ~ -+ ~ ~. ~ ~ -+: ~,4 ~-+ ,~IDt '-+
,~ '"

(C) amr,~.-+'~ -+ ~ -+,~, -+ ~IDt ~ ~~w
,-+~-t~~amr "

(D) ~-+ amr' -+, 'qXf ~ ~ -4 ~'-+mATi -+ ~m~. .~,-+ amr ~,-.rR
, "

181 Which of the. folloWing,pollutants is non biodegradable'? ,
(A) Mercury . (B) Plastic
(C) Cadmium (D) ,All of the above
PtA~f&d ~ ~" ctmJ.3f~~q;"liftq t ?
(A)W (B) '{ifl~q)
(C) ~$~qq (0) i$'I{\.ifit ,~

188 In whlch of the' following'group 'of animals the trochophore larva becomes
the veliger larva? ' ,f:

, ,(A) Mollusca (B) Arthropo4a
(C) Amlelida (D) Platyhelminthes
Pt"'~fttd Ti fqffi ~:-~ Ti "q))q,)<~.~,~( ~,~ t ?
(A) +n(ff~I' '(B) ~'mq)"
(C) ~4\~$I' (D) ~fZ'ff41~~

189 Cranial nerve which i~responsibJe for bringing ,infonnation- fr~m internal
ear is caJ.led :
(A) VIII (B) ill
~,~ ~ w
~~, ~~: ~ ""6 ~ ~,i5 ~ Ql.,q<tl<t, ~ t
(A) VIII $) ill
(C) VI " (0) vn
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190' Which of the following isa lactogenic hOf!llone?
(A) Prolactin (B) Oxytocin -:r
(C) FSH (D) Progesterone
~IOO1RTt~d ~ -« ctfA w ~qi)ci1~Cf) ~ t ?
(A)· S41~Pr.F6"1 (B)'&tl~ilfu;{
(C) FSH (D) ,.Sfl~~I~·

191 Uropygial gland is '~ssociated with :
. (A) lizard
(C) frog .
4\{)ql~RI14(i1 mq .q)J ~.l

','" ; l)
(A) tofSm-:qCf)=t:";~~1 -ij' '::
(C) ~-«

(B) shark"
J •(D) . 'ptge6Il

; ,d5 @) ~mi;'..~.
(D) ~-«

192 Which part of tooth is covered with enamel?
(A) Crown (B) Root, ..,
(C) Dentine (D) Alf of the '.above
~ C6T cGM- m'tP-T ~ -« G'CfiT mr t ?
(A) ~(B) l{\'f

(C) $~I~~ (p) \3qUtRf ri

193 Neurogenic heart is found in :
(A) King crab
(C) Cockroach
;q::uci1PICf) Wf lJlifr \lfffiT. i
(A) "Uiif ~ ~ .

(C) . fd(i1:q~1 ~

(B) Snail
(D) Leech

(B) ~ ~
(0) i1!Tcf;',~,

194 Vertebrate naiYs are derivatives of :
(A) stratum lucidum
(C) . stratum granulosum
Ct)~~ ~ ~.t
(A) W€S ~ -«
(C) ri' m -ij-

(B) stratum germinatirum
(0) stratum corneum

(B) ~ m-«
(0) '~.~ ~

195 Obturator. foramen IS found in the pelvic girdle of :
(A) Amphibian (B) Reptiles
(C) Birds. .' . . . (D) Mammals
'3I1&e~2:( ~ JJMUr ~. ~ -qwi' \fflffi t :

'" .

(A) ~$ .(B) ~ t
. (C) tf~ t (0) «AT' t
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196 Which of the.·followilJgor~lles i',.dev()id ...o£PNA:.' yet is capable
of duplieation? .
(A) Plasmid (B) Mitochondria
.(C) Gentriole (D) Nucleus
Pt"1R;tRsad ~ .::a,qfffi·~ID ~lC6ttT tr '1"l ~ ~ m ~ 1frfu~UI"1~
~~ t? .
(A) I(itl'tlf'lf6
(C) ij~?(~"lI(i1

(B) 'f1~llCf)'fp.;;ttI

(I?) ~

197
; ·'d

The cisternae that ....~ruce }II>, the Golgi complex are :
(A) rough' ,(B) polarized,
(C) non-polarized (0) rctic\.date'
ft:i{(;{.f\, ~ ·~~IW\i\qoij' ~ t, ~m t :
(A) ~ (B) ~ .
(C) aT~ (0) 1Jf1~tl)'(qq)

l ,:

198 Genes present onY: chromosomes are called:
(A) holandric genes (B) basic genes
(C) pleiotropic genes (0) polygenic genes
y ~ 'q""{ ~ iiI"A .~. ~ C6&(i11a ~

(A) 61~~i6· ~ (B) ~ ~
(C) ~ti)?ClfqC6 ~ (0) ql\'fl~PtCf) ~

199 If a colour blind man marries a woman who is normal but carries this
trait, the progeny will be
(A) all normal females but carrier of the trait
(B) all males and 50% females colour blind
(C)' all females. and 50% males colour blind
(0) 50% males and 50% females colour blind
~ ~~ '. ~.'qCfi.~ ~ ~.~ t ~ ..~.-a ~ Cfi{ffi.totmwrr~ .···1, ,

(A) ~ ~ ~ ~ ~. rtr ~ (i1~Rbtti ~
(B) ~"R -a~ 50% ~ ~ ~
(C) ~ ~ -am 50% "R ~ ~
(0) 5001c,;:rt <fmj)~O% ~ .~ ~

200 Which of the following is a living fossil ?
(A) Trilobites (B) Archaeopteryx
(C) Nautilus (0) Cheetah
Pt'*l~ftgd -q ~~ ~~-q t ?
(A) ?(I~(i")G(I~G
(C) ~(i1e

HMDC/13-A_A]
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HMDCJ1.3-A IIItIU,"tIIIJI lUIUI ml1111111III 1111
INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS
~~-;fit\fflt ~ ~~.~

(Please use Black ball-point Pen) f~ Black ball-point .q., fliT m~)

...:::::: USEBLACKBALLPOINTPENONLY) ~ •••••••• USEBLACKBAUPOIHTPENONLY) ~

(ii) CANDIJ;)ATESARE PERMITTED
TO CARRY AWAY THE (ii) -qfr~l \W\Rf -qfr~ii q;) lJ~"
QUESTION BOOKLET WITH ~ ercR m~ ~ ~ ctr .-.r.:n:rA:r
THEM AFTER THE ~ V1J, .•.•'~'
EXAMINATION. il , .

Care in Handling the OMR Answer 5 atr.~.31T{. ~ ~flct ~.q 'ffiqQl;f\':
Sheet: ffi ~1R:(l;f wWT ~ .~ l:{fr ~

~~m'l~ m, ~ in
~~~«mr.,m:e:1:{Ci~
~ ~. ~ ..~ qm;rr ~ ~ \1ICf~
~ q;"t ~ ~ f9,lIjCb"l ~. ~1R:t
fre 'lWT 1)' ~ ~ I

II

1 Method of Marking Answers :

To answer a questipn, please darken
one bubble out of the given four, in
tile OMR Answer Sheet against that
question.

2. Valuation Procedure : 2

3

There are four alternative answers to.a
question, only one of them is correct,
ORe mark will. be awarded for each
correct answer, ifmore than one bubble
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer hence no mark
shall be awarded.

3Cancellation or Change in Answer :
It will not be possible to change the
marked bubble with blackball-point
pen; therefore, correct answer should
be carefully chosen before marking it
on OMR Answer Sheet.

4 Handing over of OMR Answer Sheet 4
to Invigilator. :

(i) Please ensure that all entries in the
answer sheet are filled up properly
i.e. Name, Roll No., Signatures,
Question Booklet No. etc.

5

While using answer sheet adequate care .
should be taken not to tear· or spoil
due to folds or wrinkles and the
impression does not come behind the
.Answer Sheet.
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. .
1 ~.·~CIiT~:

~ ~,t ~ aTI~~.<3lR. ~ ~lTG
1)'. ~tlff 1l~.,t ~ ~~ "fill:
Wi. 1)' -a ~ ~ ~ CfiT "'UT Cffl"ffi
~l

'ltif;ifj'ft m :
.~ 1l~.,t "fill: ~~ ~ i',m
tt ~ \f'ff\ m t 11l~"f Cffl" m ~~ m~~.aiifi ~ Wrr',1 ~
~~~~~~~tm
~ ~ ~ fcI;-qfr~df q;) lJ~"'Cbl
~ ~.~.~ t ~ ~.C61t
~ 0ftT ~ ~Trl

~ Cfil f.rrnr ~. 'lIT ~.
~~~'f.rt@mt~'~
~ ~ ~ 1it .,.q ~ ~ ~~;p;f q;)

.~ ~'qCf "ftY Wrr I .mf: ~ q;r
Tffi;rr mt ~-mT 1l~";f~ Cfi' ~
\1TCI"~1;:f1 '{ c:tCb q;"t I .

m.~.31T{. '3m rile ~ Cfil •.• :

(i) cft~ q;) \f'ff\ ~m~ ~ ~
~"'ERf.~ ~ fcI;~ ~mt
~~lR~~~-9f(lf,
\Rir~, ~m, lJ~"f-~CfiT
~, ~~~·lRiTq;--
~ '11: .,.q i' I

-.
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